INSTRUCTION SHEET | ENDOSKELETAL COMPONENTS

Torsion Adapter
o [

6368 63963
=9 =9 =9 =9



FIGURE1

FIGURE 2




INSTRUCTION SHEET | ENDOSKELETAL COMPONENTS
Torsion Adapter

PRODUCT DESCRIPTION

This structural component consists of a torsional mechanism with a pyramid receiver and four set screws on one connecting end.
The other connecting end consists of one of the following: pyramid, pylon (tube), or pylon receiver with clamp screw.

KEY COMPONENTS (Figure 1) /\ INDICATIONS:

Torsion Adapters = Lower limb amputations

A. Torsion Adapter, Pyramid Adapter to Pyramid Receiver, Ti é CONTRAINDICATIONS:
B. Torsion Adapter, 30mm Tube Clamp to Pyramid Receiver, Ti ’

= None known

C. Torsion Adapter, 30mm Tube Adapter, Ti,, 275mm
D. Torsion Adapter, 30mm Tube Adapter, Ti, 455mm é WARNING
E. Torsion Adapter, 34mm Tube Adapter, Ti, 275mm . )
) ] = Torque evenly to specified settings.
F. Torsion Adapter, 34mm Tube Adapter, Ti, 455mm D b y . . |
G (D) M5 x 14mm Clamp Screw o not expose this product to corrosive materials, salt
water or pH extremes.
H. (4) M8 x 14mm Set Screws . . .
= Any further disassembly or modification of components
This diagram (Figure 1) is to help familiarize you with a torsion adapter, a will void the warranty.

structural component. These parts are referenced in the instructions and

. Fail llow th li It i Il of the foll :
used when speaking with a technical service representative. ailure to follow these guidelines may result in one or all of the following

noise, movement, damage, and catastrophic failure. For further questions,

INTENDED USE please contact College Park Technical Service..

Torsion Adapters are prosthetic adapters intended to mimic the torsional
compliance of an anatomical limb by allowing for torsional rotation
between the prosthetic socket and prosthetic foot.



WARRANTY INSPECTION AND MAINTENENCE INFORMATION
College Park recommends that you schedule your patients for check-ups according to the Warranty Inspection schedule below.
High patient weight and/or impact level may require more frequent inspections. Prosthetic components should be inspected after the first 30 days of
use. We recommend you visually inspect the entire prosthesis for excessive wear and fatigue at each consultation..

WARRANTY INSPECTION SCHEDULE FOR TORSION ADAPTER: 30 DAYS, THEN ANNUALLY.

TECHNICAL SPECIFICATIONS

Torsion Adapter, Torsion Adapter, Torsion Adapter, Torsion Adapter, Torsion Adapter, Torsion Adapter,
Pyramid Adapter to  30mm Tube Clamp to  30mm Tube Adapter, 30mm Tube 34mm Tube 34mm Tube Adapter,
Pyramid Receiver, Ti  Pyramid Receiver, Ti  Ti,, 275mm Adapter, Ti, 455mm  Adapter, Ti, 275mm  Ti, 455mm
Part No. TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34
Material Titanium Titanium Titanium (receiver),  Titanium (receiver), Titanium (receiver),  Titanium (receiver),
Aluminum (tube) Aluminum (tube) Aluminum (tube) Aluminum (tube)
Tube Diameter nla 30 mm 30 mm 30 mm 34 mm 34 mm
Build Height (MAX) 43 mm (1.7 in) 47 mm (1.9 in) 275 mm (10.8 in) 455 mm (18 in) 275 mm (10.8 in) 455 mm (18 in)
Cut Length (MIN) n/a nla 83 mm (3.31in) 83mm(3.3in) 79 mm (3.1in) 79 mm (3.1in)
Assembly Weight 393g 432g 567 g 670 g 569 g 685¢g
Patient Weight Limit 150 kg (330 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 150 kg (330 Ibs) 150 kg (330 Ibs)
Axial Rotation +/-20° +/-20° +/- 20° +/-20° +/- 20° +/-20°
Warranty 2 Year, limited 2 Year, limited 2 Year, limited 2 Year, limited 2 Year, limited 2 Year, limited
Torque (Set Screws) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-1bs) 15 N-m (11ft-Ibs) 15 N-m (11ft-1bs)
Torque (Clamp Screw) n/a 6 N-m (4.4 ft-lbs) nla nla n/a nla
SYMPTOM DESIRED RESULT TMENT

TORSION ADJUSTMENTS (Figure 2) e —

- Range of adjustment =2 full turns Rotation too fast Increase Resistance Turn clockwise
= Factory setting = minimum resistance

Greater torsion moment/ Turn counter-

Rotation too slow
Decrease Resistance clockwise

M
<4
_{'\




GUIDELINES

M8 x 14mm set screw and M5 x 14mm clamp screw threads include nylon patch.
Loctite® is not required.

TECHNICAL ASSISTANCE /
EMERGENCY SERVICE 24-7-365

College Park’s regular office hours are Monday through Friday, 8:30 am - 5:30
pm (EST). After hours, an emergency Technical Service number is available to
contact a College Park representative.

LIABILITY

The manufacturer is not liable for damage caused by component combinations that
were not authorized by the manufacturer

/A CAUTION

College Park products and components are designed and tested according to the
applicable official standards or an in-house defined standard when no official standard
applies. Compatibility and compliance with these standards are achieved only when
College Park products are used with other recommended College Park components.
This product has been designed and tested based on single patient usage. This device
should NOT be used by multiple patients.

/A\ CAUTION

If any problems occur with the use of this product, immediately contact your medical
professional. The prosthetist and/or patient should report any serious incident” that has
occurred in relation to the device to College Park Industries, Inc. and the competent
authority of the Member State in which the prosthetist and/or patient is established.

*Serious incident’ is defined as any incident that directly or indirectly led, may
have led, or might lead to any of the following; (a) the death of a patient, user, or
other person, (b) the temporary or permanent serious deterioration of a patient’s,
user’s, or other person’s state of health, (c) a serious public health threat.

COMPLIANCE

This device has been tested according to ISO 10328 standard to three million load cycles.

Depending on patient activity this may correspond to 3-5 years of use.

1ISO 10328 - LABEL

PART NUMBER | WEIGHT LIMIT (KG)
TORTCPRT
TOR 7275 30
TOR T455 30
TORPAPRT
TOR T275 34
TOR T455 34

f
ISO 10328 - “P” - “m”kg*) A

LABEL TEXT

136 ISO 10328-P6-136 kg

150 1ISO 10328-P7-150 kg

*) Body mass limit not to be exceeded!

A For specific conditions and limitations of use, see intended

use section of manufacturer’s written instructions.




R
il diay

Las sl (o JAY) Jua il ol ()5S0 5 a5 Jua 3 i o il &) Aa )l an Jiisd e ol sV A e JSsel) oSl 138 ()5S
akie & 5 g e libaual (Bl Jiis o (sl) Relibaal Bl s ol as Jii L

aelila¥) il

lania) 190 AN\
il Gl .

dearia) adlse AN\

Jleaiad aibe gl Cijaial =

y-\NA

Jsaaaall Clalac ) 83 JLM.M Rs¥ale
Ol sivn ol mlle le sl AalS o) gl el 38 a3 Y w
Aadije dysh )
el sl Y el S AT Jans o e o gagen @
;L‘.}_‘,b_bu.’)ﬁ/,uwu,_\;g;/umJy/,_\Fr,/,Jy/,_cJ;,J_u
il il e s a1 oy L) a3l S ey iy 4
.College Park

(Figure 1) A ) il gSall

&)l Y saa

s (a p iiass () e p dsme co) 53l g
2535 (ala 30 (s i ) il dlaa el s Jgaa
la 275 ca 5 cale 30 sl Jsma ce) 51l g

ke 455 ¢ i cale 30 sl Jsma ol Jgaa

ke 275 cassiis ol 34 sl Jsae ol 50 Jsme

ole 455 ¢ 5ilisi ol 34 sl Jpma ol sl Jpma

ale 14 x M5 el & 5 (1)

ela14 x M8 Jleall 212 (4)

Tommbo b

el siYl Jgan e i paill o clivelua NI (Figure 1) Lbsall 138 Cizg
o Conill e Lealafinly laledl] G ol al ols N g ea il p NS0 5 6Se
Al ae ] i gaio

.\9*4“ \?‘M” N
SV G385 Slae ) o e lilaaal Y sa b o) Y1 Y saa
selibaa¥) iy sl G SN Ol sally lawsd) UM (g il o hall



Blhuall claglra g Glaall (asd
slial glaall (and Jsan Gy i jal il sadll vie) 5a 2055 0 College Park (oasi

pands dlinsis Jerind o Liw30 e elibuayl Ci bl CilisSe pand gy ST Joeas Cilaa i o a) Gllhi 3 dasall (5 sisa gl 5 @5 sall s all 0 s
L3l JS (4 olga)s wad el sl o e Gl U ey JolSIL e liba) i bl

Lsiu ol lagy 30 18151V Jgna ) Asaadlly Glacall and Jgaa

Ll Cilial gall

sl Osma ol dsma astl Jsmae ol sl dsma sl Uma cel sl oma sl Jsma el gl Jma sl ot el 5l J e s ol il Jsma
e 455 o555 cole 34 Al 275 cosilii (ala 34 ol 455 ca5lis le 30 ple 275 a5l ale 30 30 et Jiih ) Jitd )
p s cale sl ¢ a8
TOR T455 34 TOR T275 34 TOR T455 30 TOR T275 30 TORTCPRT TORPAPRT dadadl) o3,
(DUl Jlen) ppslis (DL Slen) o ssliS f(Juiad Jlen) paslis (DU Slen) o ssliS pslis plis Balall
(sl) psiasll (sl) pssiesl) (sl) psiasll (sl) psiasll
k34 ok 34 2k 30 2k 30 #k 30 (ihia e G ki
(Aa518) pe 455  (=lw210.8) Ak 275 (e5218) pla 455  (“ba510.8) pke 275 (Hhe21.9) ale 47 (A=217) ale 43 paanall) gL )
() 2l
(es3Nple79 (hon3ple79 (hen33)ak83 (Hbesn3.3)ak83 Gehie e Gibia ye () a)) gl g5k
685 > 569 670 567 432 393 &l 0
(3,330) 28150 (U, 330) w8150 (Jb,300) 25136 (JLy300) 8136 (J5,300) p2$136  (Glb;330) sa$ 150 w2l 0y 8
°20 -/+ °20 -/+ °20 -/+ °20 -/+ °20 -/+ °20 -/+ sl gy
2g3aa cGlale 3 5ana ¢lale 23 ¢Olale 353 clale 2g3aa cGlale 3 53aa clale Olaall
i 1) sie- 55815 e - (i 15 S-S5 e - (i 15 - i 15 - g 1S s a e
(dh)- (db) - Ld11) (Jh) - L) (db - Ld11) (b, - L) (b, - La11) (e 21 )

ik e Bk 2 il Glie e (R JeS4.4) 5 56 Bilie o (S ) asloe




hadl b 2 g U sandl A al) b aisall ALl College Park Industries, Inc (Fjgure 2) G\Jﬂy‘ [y KT ]

oAl sl /5 delilaal) clacy) "

- jahadl SilalS il = Joaedll 3Uas w
- Sl e s Sl e JSE s 8 Sl o Sl g 4l e " ladl) Culall" i el _n @15&;\\'— - de‘ "J‘ ‘

Sl Al Wl 5l sl gl () ¢ AT il f pastusdl) S Gy sl 3l (‘) ol laa A glaall (A3 = C““‘J Clalac) .

Aadl Aaall i 363 () A add ol pastuaal) G sall Jgaasdl 4y 92 ) Apgisd)

JEay

(a3 50 550l 10328 1SO sasall Jlrad W5 Sleall 13a sl 5
i ¥ Y (e b alaai U Ui 13 (5 5S5 38 (g yal) ol (s 5 ‘

aldl - 1SO 10328 )l

Aa oladl 8 ghsall sl /A o) ga) Akaal Slsall

+‘ 1ol o lie Aasliall 8508 Aoy
-

oladl (wSe lysall [5:81elgall Alaal edaga lysal)
deludl olic AS)a Gasliall il 233

Graldl) pal (3S) 0osh s Gadadl) aBy | Loctite® .shlidn ) Lias (38 55 ola 14 x M5 clalia (& 3 (5t ala 14 x M8 S 21

G yaal

TORTCPRT . . e

SO 10328-P6-136 kg 136 TOR T275 30 365-7-24 (s shll Aadi [ 4080 5o Luwal)
) Al 8:30 Aeldl (e Anaall Y 08V (10 (4 College Park (o &slall Jasll el

TORTAS530 | Gl 5 e iy s el ol s (i ped) il Jad o ) +Ls 5:30

TORPAPRT College Park 4S & < gaias Juai™ (5 ) shall

1SO 10328-P7-150 kg 150 TORT275 34 5 53l A g gl
TOR T455 34 Ol zmadl) e Sl Claand e il puiall e Al sl il dga Jeai Y

i

) anii A\
ISO 10328 - “P” - “m”kg*) A e 50T b s 8 Coleg Pkl S o

e V) plaall o3 e QY15 G815 Biniy Y amey Jhina e Y Lotie S, Jas
Tacadl A1 s jglas Ak i) 138 a5 College Park ¢ e (o2 5 oAl S g College Park <ilatic pladiul

o e Bae g Sleall 13 aladiul ase i aaly e aladiad Gelal e o sl pial)
A ALY ol lal (alaaiud dime 35y oy i e Jseanl]

.
A gl e lasda’ (a3 pucial A

j o ol ey el ohall ladVh 1) 8 Juaild miiall 138 aladiul 8 3G (gl chas 1Y)

A58 ) Sleall Bl * pudad Cula sl g i die G pall i/ 5 delilaal) slac Yl Slasl




INSTRUKTIONSARK | ENDOSKELETALE KOMPONENTER

Torsionsadapter
PRODUKTBESKRIVELSE

Denne strukturelle komponent bestar af en torsionel mekanisme med en keglestubmodtager og fire satskruer pa den
ene forbindelsesende. Den anden forbindelsesende bestar af en af felgende: keglestub, pylon (rer) eller pylonmodtager

med klemskrue.

NOGLEKOMPONENTER (Figure 1)

Torsionsadaptere

. Torsionsadapter, keglestubadapter til keglestubmodtager, Ti

. Torsionsadapter, 30 mm rerklemme til keglestubmodtager, Ti
. Torsionsadapter, 30 mm reradapter, Ti, 275 mm

. Torsionsadapter, 30 mm reradapter, Ti, 455 mm

. Torsionsadapter, 34 mm reradapter, Ti, 275 mm

. Torsionsadapter, 34 mm reradapter, Ti, 455 mm

. (1) Klemskrue M5 x 14 mm

. (4) Seetskruer M8 x 14 mm

I 6OmMmmoQOnNn ®w >

Denne skitse (figure 1) skal hjeelpe dig med at blive fortrolig med en
torsionsadapter, som er en strukturel komponent. | brugsanvisningen
henvises der til disse benavnelser, og de skal ogsa bruges i samtaler med
teknisk service.

PATANKT ANVENDELSE

Torsionsadaptere er proteseadaptere, der er beregnet til at efterligne
et anatomisk lems torsion ved at muliggere torsionel rotation mellem
protesekontakten og protesefoden.

/\ INDIKATIONER:

= Amputation af underekstremitet

/A\ KONTRAINDIKATIONER:

= Ingen kendte

/\ ADVARSEL

= Spand jeevnt i henhold til de specificerede indstillinger.

= Produktet m3 ikke udseettes for etsende materialer,
saltvand eller ekstreme pH-vardier.

= Yderligere adskillelse eller @ndring af komponenter vil
ophave garantien.

Manglende overholdelse af disse anbefalinger kan resultere i felgende:
stej, bevaegelse, skader og katastrofalt svigt. Kontakt venligst teknisk
service hos College Park, hvis der er yderligere spargsmdl.




GARANTIEFTERSYN OG OPLYSNINGER OM VEDLIGEHOLDELSE

College Park anbefaler, at du planlagger kontrolbeseg for dine klienter i henhold til nedenstaende garantieftersynsplan.

30 dages brug. Vi anbefaler, at du kontrollerer hele protesen for synlige slidmarker og materialetraethed ved hver konsultation.

GARANTIEFTERSYNSPLAN FOR TORSIONSADAPTER: 30 DAGE, DEREFTER ARLIGT.

TEKNISKE SPECIFIKATIONER

Torsionsadapter,

Torsionsadapter,

Torsionsadapter,

Torsionsadapter,

Torsionsadapter,

Hej veegt og/eller steerkt fodslag kan gere det nedvendigt, at gennemfere eftersynet lidt oftere. Protetiske komponenter ber efterses efter de forste

Torsionsadapter,

keglestubadapter til 30 mm rerklemme til 30 mm reradapter, 30 mm reradapter, 34 mm roradapter, 34 mm reradapter,

keglestubmodtager, Ti  keglestubmodtager, i Ti, 275 mm Ti, 455 mm Ti, 275 mm Ti, 455 mm
Artikelnr. TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Materiale Titanium Titanium Titanium (modtager), ~ Titanium (modtager), ~Titanium (modtager), ~ Titanium (modtager),

aluminium (rer) aluminium (rer) aluminium (rer) aluminium (rer)

Rordiameter Ikke relevant 30 mm 30 mm 30 mm 34 mm 34 mm
Hojde (MAX) 43 mm (1,7") 47 mm (1,9 275 mm (10,8") 455 mm (18" 275 mm (10,8") 455 mm (18")
Skarelengde (MIN) Ikke relevant Ikke relevant 83 mm (3,3") 83 mm (3,3") 79 mm (3,1 79 mm (3,1
Enhedsvaegt 393g 432¢g 567 g 670 g 569¢g 685¢g
Patientvaegtgraense 150 kg (330 pund) 136 kg 136 kg 136 kg 150 kg (330 pund) 150 kg (330 pund)
Aksial rotation +/-20° +/-20° +/-20° +/-20° +/-20° +/-20°

Garanti 2 3r, begraenset 2 &r, begranset 2 &r, begranset 2 ér, begranset 2 dr, begranset 2 ér, begranset
Drejningsmoment 15 Nm 15 Nm 15 Nm 15 Nm 15 Nm 15 Nm
(s@tskruer)

Drejningsmoment Ikke relevant 6 Nm Ikke relevant Ikke relevant Ikke relevant Ikke relevant

(klemskrue)




TORSIONSJUSTERINGER (Figure 2)

= Justeringsomrade = 2 fulde omdrejninger
= Fabriksindstilling = minimal modstand

SYMPTOM ONSKET RESULTAT JUSTERING

Rotation
for hurtig

Mindre torsionsmoment/

foreg modstand Drej med uret

Sterre torsionsmoment/
formindsk modstand

Rotation for
langsom

VEJLEDNING

Setskruer M8 x 14 mm og M5 x 14 mm klemskruegevind med nylonsikring.
Loctite® er ikke pakravet.

TEKNISK SERVICE/NODOPKALD 24-7-365

College Parks normale kontortid er mandag til fredag kl. 8:30-17:30 (EST).
Efter lukketid kan du kontakte en reprasentant for College Park ved hjlp af et
nedopkaldsnummer.

ANSVAR

Producenten er ikke ansvarlig for skader forérsaget af en kombination af
komponenter, der ikke er godkendt af producenten

/\ FORSIGTIG

Produkter og komponenter fra College Park er designet og testet i henhold til de
geldende officielle normer eller internt definerede standarder, safremt der ikke er
nogen officiel regulering. Kompatibilitet og komplians med disse standarder opnas
alene ved, at produkter fra College Park anvendes sammen med de anbefalede
komponenter fra College Park. Dette produkt er designet og testet baseret pa
brug af en enkel person. Udstyret ma IKKE anvendes af flere personer.

/\ FORSIGTIG

Hvis der opstar problemer med brugen af dette produkt, skal du straks sege medicinsk

Drejmod uret

M
+
_f\

hjaelp. Protetikeren og/eller patienten skal indberette enhver alvorlig haendelse®, der
opstar i forbindelse med udstyret, til College Park Industries Inc. og den kompetente
myndighed i det land, hvor protetikeren og/eller patienten herer hjemme.

*Alvorlig haendelse” er defineret som enhver handelse, der direkte eller indirekte
har fort til, kan have fort til eller kan fore til et af folgende: (a) ded af en patient,
bruger eller anden person, (b) midlertidig eller varig alvorlig helbredsforvaerring af
en patient, bruger eller anden person, (c) en alvorlig trussel mod folkesundheden.

OVERENSSTEMMELSE

Dette medicinske udstyr er blevet testet i henhold til ISO 10328-standarden til to
millioner belastningscyklusser. Afhangigt af patientens- aktiviteten svarer dette til

cirka 2-3 ars brug.

1ISO 10328 - MAERKAT

DEL-NUMMER | VAEGTGRENSE (KG)
TORTCPRT
TOR T275 30
TOR T455 30
TORPAPRT
TOR T275 34
TOR T455 34

f
ISO 10328 - “P” - “m”kg*) A

MAERKATTEKST

136 1SO 10328-P6-136 kg

150 1SO 10328-P7-150 kg

*) Body mass limit not to be exceeded!
For specific conditions and limitations of use, see intended

use section of manufacturer’s written instructions.

\_




ANLEITUNGSBLATT | ENDOSKELETTALE KOMPONENTEN

Torsionsadapter
PRODUKTBESCHREIBUNG

Diese Strukturkomponente besteht aus einem Torsionsmechanismus mit einer Pyramiden-Aufnahme und vier Stellschrauben
an einem Verbindungsende. Das andere Verbindungsende besteht aus einem der folgenden: Pyramide, Pylon (Rohr),
oder Pylon-Aufnahme mit Klemmschraube.

HAUPTBESTANDTEILE (Figure 1) A\ INDIKATIONEN:

Torsionsadapter = Amputationen der unteren Extremitaten
A. Torsionsadapter, Pyramiden-Adapter fir Pyramiden-Aufnahme, Ti

B. Torsionsadapter, 30 mm Rohrklemme, fiir Pyramiden-Aufnahme, Ti A GEGENANZEIGEN:

C. Torsionsadapter, 30 mm Rohradapter, Ti, 275 mm = Keine bekannt

D. Torsionsadapter, 30 mm Rohradapter, Ti, 455 mm

E. Torsionsadapter, 34 mm Rohradapter, Ti, 275 mm A WARNUNG

F. Torsionsadapter, 34 mm Rohradapter, Ti, 455 mm s Drehen Sie g|e|c|'\maf3lg geméﬁ den
G. (1) M5 x 14 mm Spannschrauben angegebenen Einstellungen.

H. (4) M8 x 14 mm Stellschrauben

Dieses Diagramm (Figure 1) soll Ihnen dabei helfen, sich mit dem
Torsionsadapter als Strukturkomponente vertraut zu machen. Diese Teile . . . .
werden in der Anleitung erldutert und werden bei Gesprachen mit einem = Eine weitere Demontage oder Anderung der Bestandteile

Vertreter des technischen Kundendienstes bendtigt. machen die Garantie nichtig.

VERWENDUNGSZWECK Eine Nichtbeachtung dieser Richtlinien kann zu allen oder einigen der

folgenden Ergebnisse fiihren: Gerausche, Bewegung und katastrophales
Versagen. Sollten Sie Fragen haben, kontaktieren Sie bitte den
technischen Kundendienst der College Park.

= Setzen Sie dieses Produkt keinen atzenden Substanzen

oder solchen mit hohen pH-Werten aus.

Torsionsadapter sind prothetische Adapter, die die
Torsionsnachgiebigkeit des anatomischen Gelenks nachahmen sollen,
indem sie die Torsionsrotation zwischen der Prothesenbuchse und
dem Prothesenful erméglichen.



GARANTIEABNAHME UND INSTANDHALTUNGSINFORMATIONEN

College Park empfiehlt, dass Sie sich bei der Terminvergabe fiir Check-Ups |hrer Patienten an den unten enthaltenen
Garantieabnahmezeitplan halten.

Bei Ubergewicht des Patienten und/oder einem hohen Belastungsgrad kénnen héufigere Untersuchungen erforderlich werden. Prothesenkompenenten
sollten nach den ersten 30 Tagen des Gebrauchs tberpriift werden. Wir empfehlen Ihnen die gesamte Prothese bei jeder Untersuchung einer visuellen

Prifung auf UbermdfSige Abnutzung und Materialermidung zu unterziehen.

GARANTIEABNAHMEZEITPLAN FUR TORSIONSADAPTER: 30 TAGE, DANN JAHRLICH.

TECHNISCHE ANGABEN

Torsionsadapter, Torsionsadapter, Torsionsadapter, Torsionsadapter, Torsionsadapter, Torsionsadapter,
Pyramiden-Adapter 30 mm Rohrklemme, 30 mm Rohradapter, 30 mm Rohradapter, 34 mm Rohradapter, 34 mm Rohradapter,
fur Pyramiden- fur Pyramiden- Ti, 275 mm Ti, 455 mm Ti, 275 mm Ti, 455 mm
Aufnahme, Ti Aufnahme, Ti
Teilenummer TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Material Titan Titan Titan (Aufnehmer), Titan (Aufnehmer),  Titan (Aufnehmer), Titan (Aufnehmer),
Aluminum (Rohr) Aluminum (Rohr) Aluminum (Rohr) Aluminum (Rohr)
Rohrdurchmesser nla 30 mm 30 mm 30 mm 34 mm 34 mm
Bauhshe (MAX) 43 mm (1,7 in) 47 mm (1,9 in) 275 mm (10,8 in) 455 mm (18 in) 275 mm (10,8 in) 455 mm (18 in)
Schnittlinge (MIN) n/a nla 83 mm (3,3 in) 83 mm (3,3 in) 79 mm (3,1in) 79 mm (3,1in)
Montagegewicht 393¢g 432¢g 567 ¢ 670 g 569 g 685¢g

Gewichtsbegrenzung
des Patienten

150 kg (330 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

150 kg (330 Ibs)

150 kg (330 Ibs)

Axiale Rotation +/-20° +/-20° +/-20° +/-20° +/-20° +/-20°

Garantie 2 Jahre, 2 Jahre, eingeschrankt 2 Jahre, 2 Jahre, 2 Jahre, 2 Jahre,
eingeschrankt eingeschrankt eingeschrankt eingeschrankt eingeschrankt

Drehmoment 15 N-m (11ft-Ibs) 15 N-m (11ft-1bs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs)

(Stellschrauben)

Drehmoment nla 6 N-m (4,4 ft-Ibs) nla nla nla nla

(Spannschraube)




TORSIONSEINSTELLUNGEN (Figure 2)

= Einstellbereich = 2 volle Umdrehungen
= Werkseinstellung = Mindestwiderstand

SYMPTOM GEWUNSCHTES ERGEBNIS EINSTELLUNG

Rotation Weniger Torsionsmoment/ Im Uhrzeigersinn m
zuschnell  Widerstand erhchen drehen +
Rotation GroBeres Torsionsmoment/ Gegen den [-\
Uhrzeigersinn
zulangsam  Widerstand senken
drehen -

RICHTLINIEN
M8 x 14 mm Stellschraube und M5 x 14 mm Klemmmschraube Gewinde
beinhalten ein Nylonpatch. Loctite® ist nicht erforderlich.

TECHNISCHER KUNDENDIENST/
NOTFALLDIENST 24-7-365

Die reguldren Geschaftszeiten von College Park sind Montag bis Freitag von 8:30
Uhr - 17:30 Uhr (EST). AuBerhalb der Geschaftszeiten steht eine Notrufnummer
des technischen Kundendienstes zur Verfiigung, sollten Sie sich mit einem
Vertreter der College Park in Verbindung setzen wollen.

HAFTUNG

Der Hersteller ist nicht verantwortlich fur Schaden, die durch Bauteilkombinationen
verursacht werden, die vom Hersteller nicht zugelassen wurden.

A\ VORSICHT

College Park Produkte und Bestandteile werden gemaf den offiziell giiltigen
Normen oder einer von der Firma festgelegten Norm entworfen und getestet, wenn
keine offiziell giiltigen Normen verfiigbar sind. Die Kompatibilitat und Einhaltung
dieser Normen ist nur dann gewahrt, wenn die College Park Produkte mit anderen,
von College Park empfohlenen Bestandteilen verwendet werden. Dieses Produkt
wurde ausschlieflich fiir die Verwendung durch einen einzelnen Patienten entworfen
und getestet. Dieses Gerat darf NICHT von mehreren Patienten verwendet werden.

A\ VORSICHT

Falls bei der Verwendung dieses Produktes Probleme auftreten, wenden Sie sich
sofort an |hre medizinische Fachkraft. Der Orthopadietechniker und/oder Patient
sollte jegliche ernsthaften Zwischenfalle® die in Bezug auf das Gerat auftreten an
College Park Industries, Inc. und die entsprechende Behérde des Mitgliedstaats, in
dem der Orthopadietechniker und/oder Patient niedergelassen sind, berichten.
*“Ernsthafter Zwischenfall“ wird definiert als jeglicher Zwischenfall, der direkt
oder indirekt zu einem der Folgenden gefiihrt hat, gefiihrt haben konnte oder
fuhren konnte: (a) Tod des Patienten, Benutzers oder einer anderen Person, (b)
voriibergehende oder dauerhafte Verschlechterung des Gesundheitszustands des
Patienten, Benutzers oder einer anderen Person, (c) eine ernsthafte Gefahrdung
der offentlichen Gesundheit.

EINHALTUNG

Dieses Gerat wurde gemaf dem ISO 10328 Standard auf zwei Millionen
Lastzyklen getestet. In Abhangigkeit von der Patientenaktivitat, kann dies 2-3
Jahren der Nutzung entsprechen.

1ISO 10328 - ETIKETT
TEILENUMMER| GEWICHTSBEGRENZUNG (KG)| ETIKETTENTEXT
TORTCPRT

TOR T275 30 136 1ISO 10328-P6-136 kg
TOR T455 30
TORPAPRT
TORT27534 150 1SO10328-P7-150 kg
TOR T455 34

-

1SO 10328 - “P” - “m”kg*) A

*) Die Korpergewichtsgrenze darf nicht iiberschritten werden!

Spezifische Nutzungsbedingungen und -einschrankungen sind im
Abschnitt der schriftlichen Anweisungen des Herstellers enthalten.

\_




HOJA DE INSTRUCCIONES | COMPONENTES ENDOESQUELETICOS

Adaptador de torsion
DESCRIPCION DEL PRODUCTO

Este componente estructural consiste en un mecanismo de torsion con un receptor piramidal y cuatro tornillos de fijacion en
un extremo de conexidn. El otro extremo de conexidn consiste en uno de los siguientes: piramidal, pilon (tubo) o receptor de

pilon con tornillo de sujecion.

COMPONENTES PRINCIPALES (Figure 1)
Adaptadores de torsion
A. Adaptador de torsion, Adaptador piramidal a receptor piramidal, Ti
B. Adaptador de torsion, Abrazadera de tubo de 30 mm a

receptor piramidal, Ti
C. Adaptador de torsion, Adaptador de tubo de 30 mm, Ti, 275 mm
D. Adaptador de torsion, Adaptador de tubo de 30 mm, Ti, 455 mm
E. Adaptador de torsion, Adaptador de tubo de 34 mm, Ti, 275 mm
F. Adaptador de torsion, Adaptador de tubo de 34 mm, Ti, 455 mm
G. (1) Tornillo de abrazadera M5 x 14 mm
H. (4) Tornillos de fijacion M8 x 14 mm

Este diagrama (Figure 1) tiene como objetivo ayudarlo a familiarizarse
con un adaptador de torsion, un componente estructural. Estas piezas
se mencionan en las instrucciones y se utilizan al hablar con un
representante de servicio técnico.

USO PREVISTO

Los adaptadores de torsion son adaptadores protésicos destinados a
imitar la distensibilidad torsional de una extremidad anatomica al permitir
la rotacion torsional entre la protesis de cuenca y una protesis de pie.

/\ INDICACIONES:
= Amputaciones del miembro inferior
/A\ CONTRAINDICACIONES:

= Ninguna conocida

/\ ATENCION

= Ajuste uniformemente hasta las
configuraciones especificadas.

= No exponga este producto a materiales corrosivos,
agua salada o valores de pH extremos.

= Cualquier desmontaje o modificacién adicional anulara
la garantia.

No sequir estas pautas puede provocar lo siguiente: ruido, movimiento,
dario y fallas graves. Si tiene preguntas, contacte al servicio técnico de

College Park.



INFORMACION SOBRE MANTENIMIENTO E INSPECCION DE GARANTIA

College Park recomienda que programe los controles de sus pacientes de conformidad con el cronograma de inspeccion de la
garantia que figura a continuacion.
Es posible que los pacientes de mayor peso o con mayor nivel de impacto requieran inspecciones mas frecuentes. Los componentes ortopédicos deberian

ser revisados luego de los primeros 30 dias de uso. Recomendamos que realice una inspeccion visual de toda la protesis para detectar signos de desgaste
[y oxcesivoy fatiga en cada consulta.

CRONOGRAMA DE INSPECCION DE LA GARANTIA PARA ADAPTADOR DE TORSION: TREINTA DIAS, LUEGO UNA
VEZ AL ANO.

ESPECIFICACIONES TECNICAS

Adaptador de Adaptador de torsion,  Adaptador de Adaptador de Adaptador de Adaptador de
torsion, Adaptador Abrazadera de tubo torsion, Adaptador  torsion, Adaptador  torsion, Adaptador torsion, Adaptador
piramidal a receptor  de 30 mm a receptor  de tubode 30 mm,  de tubo de 30 mm,  detubode34 mm,  de tubo de 34 mm,

piramidal, Ti piramidal Ti, 275 mm Ti, 455 mm Ti, 275 mm Ti, 455 mm

Parte n.” TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34

Material Titanio Titanio Titanio (receptor), Titanio (receptor),  Titanio (receptor), Titanio (receptor),
aluminio (tubo) aluminio (tubo) aluminio (tubo) aluminio (tubo)

Diametro del tubo nla 30 mm 30 mm 30 mm 34 mm 34 mm

Altura (MAX) 43 mm (1,7 in) 47 mm (1,9 in) 275 mm (10,8 in) 455 mm (18 in) 275 mm (10,8 in) 455 mm (18 in)

Largo del corte (MIN)  n/a n/a 83mm(3,3in) 83mm(3,3in) 79 mm(3,1in) 79 mm (3,1in)

Peso del montaje 393g 432¢g 567 ¢g 670 g 569¢g 685 g

Limite de peso 150 kg (330 Ib) 136 kg (300 Ib) 136 kg (300 Ib) 136 kg (300 Ib) 150 kg (330 Ib) 150 kg (330 1b)

del paciente

Rotacién axial +/-20° +/-20° +/- 20° +/-20° +/- 20° +/-20°

Garantia 2 anos, limitada 2 anos, limitada 2 anos, limitada 2 anos, limitada 2 anos, limitada 2 anos, limitada

Torsion 15 N-m (11 Ib-ft) 15 N-m (11 Ib-ft) 15 N-m (11 Ib-ft) 15 N-m (11 Ib-ft) 15 N-m (11 Ib-ft) 15 N-m (11 Ib-ft)

(tornillos de fijacion)

Par de torsion n/a 6 N-m (4,4 |b-ft) n/a n/a n/a n/a

(tornillo de sujecion)




AJUSTES DE TORSION (Figure 2)

= Rango de ajuste = 2 vueltas completas
= Configuracion de fabrica = resistencia minima

SINTOMA RESULTADO DESEADO  AJUSTE

Rotacion .
otacio Menor momento de torsion/  Gire hacia m
demasiada
P Aumentar la resistencia la derecha
rapida
Rotacion
Mayor momento de torsion/  Gire hacia
demasiada
Disminuir la resistencia la izquierda
lenta -

PAUTAS

El tornillo de fijacion M8 x 14 mm y las roscas de los tornillos de sujecion M5 x 14
mm incluyen un parche de nailon. No se requiere Loctite®.

ASISTENCIA TECNICA/SERVICIO DE .
EMERGENCIA LAS 24 HORAS LOS 365 DIAS

El horario de atencion habitual de College Park es de lunes a viernes, de 8:30 a. m.
a5:30 p. m. (EST). Fuera de este horario, hay disponible un nimero de Servicio
técnico de emergencia para comunicarse con un representante de College Park.

RESPONSABILIDAD

El fabricante no se hace responsable por los dafios causados por combinaciones de
componentes que no fueron autorizados por el fabricante.

/\ PRECAUCION

Los productos y componentes de College Park han sido disehados y probados de
acuerdo con las normas oficiales aplicables o a una norma definida internamente
cuando no se aplica ninguna norma oficial. La compatibilidad y el cumplimiento de
estas normas se logran solo cuando los productos de College Park se usan con otros
componentes de College Park recomendados. Este producto ha sido disefiado y
probado basandose en el uso por parte de un solo paciente. Este dispositivo NO
debe ser utilizado por mdltiples pacientes.

/\ PRECAUCION

Si'surge algin problema con el uso de este producto, comuniquese inmediatamente
con su médico. El ortopedista o paciente deberia informar de cualquier incidente grave*

que haya ocurrido en relacion con el dispositivo a College Park Industries, Inc., y ala

autoridad competente del estado miembro en el que el ortopedista o el paciente radica.

*Un “incidente grave” se define como cualquier incidente que directa o
indirectamente causa, puede haber causado o podria causar cualquiera de los
siguientes; (a) la muerte de un paciente, usuario u otra persona, (b) el deterioro
grave temporal o permanente del estado de salud de un paciente, usuario u otra
persona, (c) una amenaza grave a la salud piblica.

CUMPLIMIENTO

Este dispositivo ha sido probado conforme a la norma ISO 10328 a dos millones de ciclos
de carga. Segln la actividad del paciente, esto puede corresponder a 2-3 afos de uso.

1ISO 10328 - ETIQUETA

::Jm:ZRAO DE LIMITE DE PESO (KG) ;i:((;SE?I'iLA
TORTCPRT

TOR T275 30 136 1SO 10328-P6-136 kg
TOR T455 30

TORPAPRT

TORT27534 150 1SO 10328-P7-150 kg
TOR T455 34

f
1SO 10328 - “P” - “m’kg") A\

*) {No se debe exceder el limite de masa corporal!

A Para conocer las condiciones especificas y las limitaciones de
uso, consulte la seccion de uso previsto de las instrucciones
escritas del fabricante.




OHJEET | SISATUKIRANGAN KOMPONENTIT

Kiertosovitin
TUOTEKUVAUS

Tama rakenteellinen osa kasittaa kiertomekanismin, jossa on pyramidivastaanotin ja nelja saatoruuvia yhdessa liitospaassa.
Toisessa liitospaassa on jokin seuraavista: pyramidi, pyloni (putki) tai pylonivastaanotin kiristinruuvilla.

A
B.

H.

TARKEIMMAT OSAT (Figure 1)

Kiertosovittimet

Kiertosovitin, pyramidisovittimesta pyramidivastaanottimeen, Ti

Kiertosovitin, 30 mm:n putkipuristimesta
pyramidivastaanottimeen, Ti

C. Kiertosovitin, 30 mm:n putkisovitin, Ti, 275 mm
D. Kiertosovitin, 30 mm:n putkisovitin, Ti, 455 mm
E.
F
G

Kiertosovitin, 34 mm:n putkisovitin, Ti, 275 mm

. Kiertosovitin, 34 mm:n putkisovitin, Ti, 455 mm
. (1) M5 x 14 mm:n kiristinruuvi

(4) M8 x 14 mm:n saatoruuvit

Tutustu tdmdn taulukon (Figure 1) avulla rakenteelliseen kiertosovitin-
osaan. Ndihin osiin viitataan ohjeissa, ja kyseisia termejd kdytetdan
teknisen tuen edustajan kanssa keskusteltaessa.

KAYTTOTARKOITUS

Kiertosovittimet ovat proteettisia sovittimia, joiden tarkoituksena

proteesikannan ja jalkaproteesin valilla.

/A INDIKAATIOT:

= Alaraajojen amputaatiot

/A KONTRAINDIKAATIOT:

= Eitunneta

/\ VAROITUS

= Kirista tasaisesti ilmoitettuun momenttiin.

= Als koskaan altista tita tuotetta syovyttaville aineille,
suolavedelle tai aarimmaisille pH-arvoille.

= Osien purkaminen tai muokkaaminen muulla tavalla
mitatoi takuun.

Ndiden ohjeiden noudattamatta jattdminen saattaa johtaa johonkin

tai kaikkiin seuraavista: omituiset aanet, likkuvuus, vauriot tai vakava
toimintahdirio. Jos sinulla on liskysyttdvad, ota yhteytta College Parkin
tekniseen tukeen.



TAKUUTARKASTUSTA JA KUNNOSSAPITOA KOSKEVAT TIEDOT

College Park suosittelee, etta varaat potilaillesi tarkastusajan alla olevan takuutarkastusaikataulun mukaisesti.

Potilaan korkea paino ja/tai impaktitaso voi vaatia, ettd tarkastuksia tehdddan useammin. Proteesin osat tulee tarkastaa ensimmaisen kuukauden kayton

Jalkeen. Suosittelemme koko proteesin tarkastamista silmamddrdisesti liiallisen kulumisen ja rasittumisen varalta jokaisella tarkastuskaynnilla.

KIERTOSOVITTIMEN TAKUUTARKASTUSAIKATAULU KUUKAUDEN PAASTA, JONKA JALKEEN VUOSITTAIN.

TEKNISET TIEDOT

Kiertosovitin,

Kiertosovitin, 30 mm:n

Kiertosovitin,

Kiertosovitin,

Kiertosovitin,

Kiertosovitin,

pyramidisovittimesta putkipuristimesta 30 mm:n putkisovitin, 30 mm:n putkisovitin, 34 mm:n putkisovitin, 34 mm:n
pyramidivastaanottimeen, Ti pyramidivastaanottimeen, Ti T, 275 mm Ti, 455 mm Ti, 275 mm putkisovitin, Ti,
455 mm
Osanro TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34
Materiaali Titaani Titaani Titaani (vastaanotin),  Titaani (vastaanotin),  Titaani (vastaanotin),  Titaani
alumiini (putki) alumiini (putki) alumiini (putki) (vastaanotin),
alumiini (putki)
Putken halkaisija - 30 mm 30 mm 30 mm 34 mm 34 mm
Rakenteen korkeus 43 mm 47 mm 275 mm 455 mm 275 mm 455 mm
(enintaan)
Leikkuupituus - - 83 mm 83 mm 79 mm 79 mm
(vahintaan)
Kokoonpanon paino 393 g 432¢g 567¢g 670¢g 569 g 685¢g
Potilaan painoraja 150 kg 136 kg 136 kg 136 kg 150 kg 150 kg
Aksiaalinen kierto  +/- 20° +/-20° +-20° +/-20° +/-20° +/-20°
Takuu 2 vuoden rajoitettu takuu 2 vuoden rajoitettu takuu 2 vuoden 2 vuoden 2 vuoden 2 vuoden
rajoitettu takuu rajoitettu takuu rajoitettu takuu rajoitettu takuu
Viaantomomentti 15Nm 15Nm 15 Nm 15Nm 15 Nm 15Nm
(saatoruuvit)
Vaintomomentti = 6 Nm = - = -

(kiristinruuvi)




KIERRON SAADOT (Figure 2)

= Saatdalue = 2 tayttd kierrosta
= Tehdasasetus = vahimmaisvastus

OIRE HALUTTU TULOS SAATO

Kierto on Pienempi kiertoliike / Kierra f\
lian nopeaa  suurempi vastus myotapaivaan +
Kierto on Suurempi kiertoliike / Kierra

lian hidasta  pienempi vastus vastapaivaan _f\

OHJEET

M8 x 14 mm:n sdatoruuvin ja M5 x 14 mm:n kiristinruuvin kierteissa on nailonilla
J
pinnoitettu alue. Loctite®:a ei vaadita.

TEKNINEN TUKI / HATAPALVELU, AUKI JOKA
PAIVA YMPARI VUODEN

College Parkin tavalliset aukioloajat ovat maanantaista perjantaihin klo 8.30-17.30
(EST). Aukioloaikojen jalkeen kaytettavissa on teknisen tuen numero, josta saa

yhteyden College Parkin edustajaan.

VASTUU

Valmistaja ei ole vastuussa vahingoista, jotka johtuvat osayhdistelmista, jotka eivat
ole valmistajan valtuuttamia

/\ HUOMIO

College Parkin tuotteet ja osat on suunniteltu ja testattu sovellettavien virallisten
standardien mukaisesti tai yrityksen itse maaritteleman standardin mukaisesti,

kun virallisia sovellettava standardeja ei ole kaytettavissa. Naiden standardien
noudattaminen saavutetaan vain, kun College Parkin tuotteita kaytetaan muiden
suositeltujen College Park -osien kanssa. Tama tuote on suunniteltu ja testattu yhden
potilaan kaytettavaksi. Tama tuote El ole tarkoitettu usean potilaan kayttoon.

/\ HUOMIO

Jos taman tuotteen kaytossa ilmenee ongelmia, ota heti yhteytta terveydenhuollon
ammattilaiseen. Proteesiasiantuntijan ja/tai potilaan tulee ilmoittaa kaikista
vakavista tasta tuotteesta aiheutuneista vaaratilanteista® College Park Industries,
Inc.:lle sekd sen maan asianmukaiselle viranomaiselle, jossa proteesiasiantuntija ja/
tai potilas oleskelee.

*"Vakava vaaratilanne” on tilanne, joka suoraan tai epasuoraan johtaa tai saattaa johtaa

potilaan, kayttajan tai muun henkilon terveydentilan vakavaan valiaikaiseen tai pysyvaan
heikentymiseen, tai (c) vakavaan kansalliseen terveysuhkaan.

VAATIMUSTENMUKAISUUS
Tama valine on testattu ISO 10328 -standardin mukaisesti kahdella miljoonalla
kuormitussyklilla. Tama vastaa potilaan aktiivisuudesta riippuen 2-3 vuoden kayttdaikaa.

ISO 10328 - MERKINTA

OSANUMERO | PAINORAJA (KG)
TORTCPRT
TOR T275 30
TOR T455 30
TOR PAPR T
TOR T275 34
TOR T455 34

MERKINNAN TEKSTI

136 1SO 10328-P6-136 kg

150 ISO 10328-P7-150 kg

f
ISO 10328 - “P” - “m’kg*) A

*) Painorajoitusta ei saa ylittda!

Tarkat kcyttoo/osuhteet}ga -rajoitukset [oytyvat valmistajan
kirjallisen kéyttGohjeen kayttotarkoitusta kuvaavasta osiosta.

\_




FICHE D’INSTRUCTION | COMPOSANTS ENDOSQUELETTIQUES

Adaptateur de torsion
DESCRIPTION DU PRODUIT

Ce composant structurel consiste en un mécanisme de torsion avec un récepteur pyramidal et quatre vis de calage sur une extrémité de
connexion. L'autre extrémité de connexion est constituée de I'un des éléments suivants : pyramide, pylone (tube) ou récepteur de pylone avec

vis de serrage.

COMPOSANTS CLES (Figure 1)

Adaptateurs de torsion

A. Adaptateur de torsion, Adaptateur pyramidal au Récepteur
pyramidal, Ti

. Adaptateur de torsion, Collier de serrage de 30 mm au Récepteur
pyramidal, Ti

. Adaptateur de torsion, Collier de serrage de 30 mm, Ti, 275 mm

w

. Adaptateur de torsion, Collier de serrage de 30 mm, Ti, 455 mm
Adaptateur de torsion, Collier de serrage de 34 mm, Ti, 275 mm
. Adaptateur de torsion, Collier de serrage de 34 mm, Ti, 455 mm
. (1) vis de serrage M5 x 14 mm
. (4) vis de calage M8 x 14 mm

I 60mmoAON

Ce diagramme (illustration™1) a pour but de vous familiariser avec un
adaptateur de torsion, un composant structurel. Ces piéces sont référencées
dans les instructions. Ces références sont a utiliser lors des échanges avec un
représentant du service technique.

UTILISATION PREVUE

Les adaptateurs de torsion sont des prothéses destinées a imiter la
torsion sur demande d’un membre anatomique en permettant une
rotation entre I'embout de la prothése et le pied prothétique.

/\ INDICATIONS :

= Amputations de membre inférieur

/\ CONTRE-INDICATIONS :

= Aucune connue

/\ AVERTISSEMENT

= Appliquez un couple uniforme, conformément aux
réglages spécifiés.

= N’exposez pas ce produit a des matiéres corrosives,
de I'eau salée ou a des pH extrémes.

= Tout autre démontage ou modification des composants
annulera la garantie.

Tout non-respect de ces consignes peut entrainer un ou I'ensemble des
problemes suivants : bruit, mouvement, dommage et panne catastrophique
Pour toute autre question, veuillez contacter le service technique de
College Park.



INSPECTION DE GARANTIE ET INFORMATIONS CONCERNANT LUENTRETIEN

College Park vous recommande de planifier des examens pour vos patients en fonction du calendrier d’inspection de garantie ci-aprés.

Le poids élevé du patient et/ou le niveau d’impact peuvent nécessiter des inspections plus frequentes. Les composants prothétiques doivent étre inspectés apres
les 30 premiers jours d'utilisation. Nous vous recommandons d'inspecter visuellement I'ensemble de la prothése pour détecter tout signe d’usure excessive a

chaque consultation.

CALENDRIER DES INSPECTIONS DE GARANTIE POUR LES ADAPTATEURS DE TORSION : 30 JOURS, PUIS CHAQUE ANNEE.

SPECIFICATIONS TECHNIQUES

Adaptateur de torsion,

Adaptateur de torsion,

Adaptateur de torsion,

Adaptateur de

Adaptateur de torsion,

Adaptateur de torsion,

Adaptateur pyramidal ~ Collier de serrage de Collier de serrage de torsion, Collier de Collier de serrage de Collier de serrage de
au Récepteur 30 mm au Récepteur 30 mm, Ti, 275 mm serrage de 30 mm, Ti, 34 mm, Ti, 275 mm 34 mm, Ti, 455 mm
pyramidal, Ti pyramidal, Ti 455 mm
Référence TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Matériau Titane Titane Titane (réceptacle), Titane (réceptacle), Titane (réceptacle), Titane (réceptacle),
aluminium (tube) aluminium (tube) aluminium (tube) aluminium (tube)
Diamétre du tube S.O. 30 mm 30 mm 30 mm 34 mm 34cm
Hauteur de la 43 mm (1,7 po) 47 mm (1,9 po) 275 mm (10,8 po) 455 mm (18 po) 275 mm (10,8 po) 455 mm (18 po)
prothése (MAX)
Longueur de coupe S.O. S.O. 83 mm (3,3 po) 83 mm (3,3 po) 79 mm (3,1 po) 79 mm (3,1 po)
(MIN)
Poids du dispositif 393g 432¢g S567¢ 670 g 569 g 685¢g

Limite de poids
du patient

150 kg (330 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

150 kg (330 Ibs)

150 kg (330 Ibs)

Rotation axiale

+/-20°

+/-20°

+/-20°

+/-20°

+/-20°

+/-20°

Garantie

2 ans, limitee

2 ans, limitée

2 ans, limitée

2 ans, limitée

2 ans, limitée

2 ans, limitée

Couple (vis de calage)

15N m (11 pi-Ibs)

15 N m (11 pi-Ibs)

15N m (11 pi-Ibs)

15 N m (11 pi-Ibs)

15 N m (11 pi-Ibs)

15 N m (11 pi-Ibs)

Couple (vis de serrage)

80O

6 N-m (4,4 pi-lbs)

SHC)!

S.0.

$.0.

S.0.




REGLAGES DE LA TORSION (Figure 2) AATTENTION

- P|_age de.réglage : 2 tours Coan|et5 Si des problémes surviennent lors de I'utilisation de ce produit, contactez immédiatement
= Réglage initial = résistance minimale vos professionnels de la santé. Le prothésiste et/ou le patient doivent signaler tout incident
SYMPTOME RESULTATDESIRE ~ AJUSTEMENT

grave® survenu en rapport avec le dispositif a College Park Industries, Inc. et a l'autorité
compétente de I'Etat membre du prothésiste et/ou patient.

Rotation Moins de torsion/ Tourner dans le r\ *Un «incident grave » est défini comme tout incident qui a conduit, a pu conduire
trop rapide Augmentation de sens des aiguilles ou pourrait conduire, directement ou indirectement, a 'un des événements
la résistance d’une montre + f . Zede o’ . > - 3
suivants : (a) le décés d’un patient, d’un utilisateur ou d’une autre personne, (b) la
Tourner dan éteri 1 i ’e ed i X
] Torsion plus important/ ‘ ourner dans de.t.erworatlon gyrave, temporaire ou permanente de I'état de santé d un'patwer.vt, d'un
otation Diminution de € sensinverse utilisateur ou d’une autre personne, (c) une menace grave pour la santé publique.
trop lente a résistance des aiguilles - .
dune montre CONFORMITE

LIGNES DIRECTRICES Ce dispositif a été testé conformément a la norme 1SO 10328 a deux millions de cycles

de charge. Selon l'activité du patient, cela peut correspondre a 2 a 3 ans d'utilisation.

Les filetages de la vis de calage M8 x 14 mm et de la vis de serrage M5 x 14 mm

comprennent une partie en nylon. Loctite® n’est pas requis. 1SO 10328 - ETIQU ETTE
ASSISTANCE TECHNIQUE/SERVICE NUMERO DE
D’'URGENCE 24 HEURES SUR 24,7 JOURS BICCE
SUR 7, 365 JOURS PAR AN. TORTCPRT

LIMITE DE POIDS (KG)| TEXTE SUR LETIQUETTE

Les heures de bureau de College Park sont du lundi au vendredi, de 8 h 30 a TCR IS D Eejlusaaiegicls
17 h 30 (EST). En dehors de ces horaires, un numéro pour le service technique TOR T455 30
d’urgence est a votre disposition pour contacter un représentant de College Park. TORPAPRT
RESPONSABILITE TOR T275 34 150 1SO 10328-P7-150 kg
Le fabricant n’est pas responsable des dommages causés par des combinaisons de TOR T455 34

composants non autorisées.

f
/A\ ATTENTION 10 10328 - “P" - “mkg?) AN

Les produits et composants de College Park sont congus et testés conformément
aux normes officielles applicables ou a une norme définie en interne lorsqu'aucune

. : s P *) Ne pas dépasser la limite de masse corporelle !
norme officielle ne s'applique. La compatibilité et le respect de ces normes sont réalises P P P

uniquement lorsque les produits College Park sont utilisés avec d’autres composants A Pour connaitre les conditions et les limites d'utilisation spécifiques,
recommandés de College Park. Ce produit a été congu et testé en fonction d’une consultez la section relative a I'utilisation prévue des instructions

utilisation par un seul patient. Ce dispositif ne doit PAS étre utilisé par plusieurs patients. écrites du fabricant.

\_




FOGLIO DI ISTRUZIONI | COMPONENTI ENDOSCHELETRIC]

Adattatore torsionale
DESCRIZIONE DEL PRODOTTO

Questo componente strutturale consiste in un meccanismo torsionale dotato di un ricevitore a piramide e quattro viti
di regolazione a un’estremita di connessione. Laltra estremita di connessione € costituita da uno dei seguenti elementi:
piramide, pilone (tubo) o ricevitore per pilone con vite di serraggio.

COMPONENTI PRINCIPALI (Figure ) A\ INDICAZIONI:

Adattatori torsionali = Amputazioni degli arti inferiori

A. Adattatore torsionale, da adattatore a piramide a ricevitore a
piramide, Ti /\ CONTROINDICAZIONI:

. Adattatore torsionale, 30 mm da dispositivo di serraggio per tubi a

ricevitore a piramide, Ti

. Adattatore torsionale, adattatore a tubo da 30 mm, Ti, 275 mm

Adattatore torsionale, adattatore a tubo da 30 mm, Ti, 455 mm A AVVERTENZA

Adattatore torsionale, adattatore a tubo da 34 mm, Ti, 275 mm » Serrare in maniera uniforme alle impostazioni speciﬁcate.

Adattatore torsionale, adattatore a tubo da 34 mm, Ti, 455 mm

. (1) Vite di serraggio M5 x 14 mm

. (4) Viti di regolazione M8 x 14 mm

Questa grafica (Figure 1) serve per familiarizzare con 'adattatore torsionale,

@

= Nessuna nota

= Non esporre il prodotto a materiali corrosivi, acqua salata
o pH estremi.

IOomMmmoON

= Qualsiasi altra procedura di smontaggio o modifica dei

un componente strutturale. Questi componenti sono indicati nelle istruzioni e i componenti annullera la garanzia.

riferimenti vanno utilizzati quando si parla con un addetto all'assistenza tecnica La mancata osservanza di queste linee quida potrebbe causare uno o pit
, dei sequenti problemi: rumore, movimento, danno e guasto irreparabile

DESTI NAZION E D'USO Per ulteriori domande, contattare il servizio tecnico College Park.

Gli adattatori torsionali sono adattatori protesici concepiti per imitare
la cedevolezza torsionale di un arto anatomico, consentendo la
rotazione torsionale tra I'invasatura protesica e il piede protesico.



INFORMAZIONI SULLISPEZIONE/MANUTENZIONE IN GARANZIA

College Park consiglia di programmare i check-up dei pazienti in base al programma di ispezioni in garanzia riportato di seguito.

Un peso elevato del paziente e/o un alto livello di impatto possono richiedere ispezioni pit frequenti. | componenti della protesi devono essere ispezionati dopo i primi
30 giorni di utilizzo. Durante ogni consulto, si raccomanda di ispezionare visivamente lintera protesi per verificare che non sia eccessivamente usurata e indebolita

PROGRAMMA DI ISPEZIONI IN GARANZIA PER UADATTATORE TORSIONALE: 30 GIORNI, POl ANNUALMENTE.

SPECIFICHE TECNICHE

Adattatore torsionale,
da adattatore a
piramide a ricevitore a

Adattatore torsionale,
30 mm da dispositivo
di serraggio per tubi a

Adattatore torsionale,
adattatore a tubo da
30 mm, Ti, 275 mm

Adattatore torsionale,
adattatore a tubo da
30 mm, Ti, 455 mm

Adattatore torsionale,
adattatore a tubo da
34 mm, Ti, 275 mm

Adattatore torsionale,
adattatore a tubo da
34 mm, Ti, 455 mm

piramide, Ti ricevitore a piramide, Ti
Codice articolo TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34
Materiale Titanio Titanio Titanio (ricevitore), Titanio (ricevitore), Titanio (ricevitore), Titanio (ricevitore),
alluminio (tubo) alluminio (tubo) alluminio (tubo) alluminio (tubo)
Diametro del tubo n/d 30 mm 30 mm 30 mm 34 mm 34 mm
Altezza strutturale 43 mm (1,7 in) 47 mm (1,9 in) 275 mm (10,8 in) 455 mm (18 in) 275 mm (10,8 in) 455 mm (18 in)
(MAX)
Lunghezza di taglio n/d n/d 83 mm (3,3in) 83 mm (3,3 in) 79 mm (3,1in) 79 mm (3,1in)
(MIN)
Peso del gruppo 393¢g 432¢g 567 g 670 ¢ 569 g 685¢g

Limite di peso
del paziente

150 kg (330 1b)

136 kg (300 1b)

136 kg (300 Ib)

136 kg (300 1b)

150 kg (330 Ib)

150 kg (330 I1b)

Rotazione assiale

+/- 20°

+/-20°

+/-20°

+/-20°

+-20°

+/-20°

Garanzia

Limitata di 2 anni

Limitata di 2 anni

Limitata di 2 anni

Limitata di 2 anni

Limitata di 2 anni

Limitata di 2 anni

Coppia
(viti di regolazione)

15 N-m (11ft-1b)

15 Nem (11ft-1b)

15 N-m (11ft-Ib)

15 Nem (11ft-1b)

15 N-m (11ft-1b)

15 Nem (11ft-1b)

Coppia
(vite di serraggio)

n/d

6 N-m (4,4 fi-Ib)

n/d

n/d

n/d

n/d




REGOLAZIONE DELLA TORSIONE (Figure 2)

= Intervallo di regolazione = 2 giri completi

= Impostazione di fabbrica = resistenza minima

SINTOMO RISULTATO DESIDERATO REGOLAZIONE

Ruotare in
senso orario

Rotazione Minore momento torcente/
troppo rapida Aumento della resistenza

Rotazione

Maggiore momento torcente/ Ruotare in
troppo lenta

Riduzione della resistenza senso antiorario

2D
+
_{\

LINEE GUIDA

Le filettature delle viti di regolazione M8 x 14 mm e della vite di serraggio M5 x 14
mm comprendono un attacco in nylon. Luso di Loctite® non & necessario.

ASSISTENZA TECNICA / SERVIZIO DI

EMERGENZA 24-7-365

Orario dufficio di College Park: dal lunedi al venerdi, dalle 8:30 alle 17:30
(EST). Al di fuori dell’orario indicato, & disponibile un numero di Servizio tecnico
d’emergenza per contattare un addetto College Park.

RESPONSABILITA

Il produttore non & responsabile dei danni causati da combinazioni di componenti
non autorizzate dal produttore stesso

/\ ATTENZIONE

I prodotti e i componenti College Park sono progettati e testatiin base alle normative
ufficiali applicabili o a uno standard interno, definito in caso di assenza di normative
ufficiali. La compatibilita e la conformita a queste normative vengono ottenute solo
quando i prodotti College Park vengono utilizzati con gli altri componenti College
Park raccomandati. Questo prodotto € stato progettato e testato in base alluso su un
unico paziente. Questo dispositivo NON deve essere utilizzato da piu pazienti.

ATTENZIONE

In caso di problemi con luso di questo prodotto, contattare immediatamente il
proprio medico. |l protesista e/o il paziente devono segnalare qualsiasi incidente grave®

verificatosi in relazione al dispositivo a College Park Industries, Inc. e allautorita
competente dello Stato membro in cui risiedono il protesista e/o il paziente.

*E da considerarsi “incidente grave” qualsiasi incidente che, direttamente o
indirettamente, abbia portato o potrebbe portare a una delle seguenti conseguenze:
(a) morte di un paziente, di un utilizzatore o di altra persona; (b) grave
deterioramento temporaneo o permanente dello stato di salute di un paziente, di
un utilizzatore o di altra persona; (c) una grave minaccia per la salute pubblica.

CONFORMITA

Questo dispositivo & stato testato secondo lo standard ISO 10328 per due milioni
dicicli di carico. A seconda dell’attivita del paziente, la durata puc corrispondere a
2-3 anni di utilizzo.

1ISO 10328 - ETICHETTA

CODICE ARTICOLO | LIMITE DI PESO (KG) | TESTO ETICHETTA
TORTCPRT

TOR T275 30 136 :gg I(1;)328%-
TOR T455 30

TOR PAPRT

TORT275 34 150 Eg l1;>328—F>7—
TOR T455 34

f
ISO 10328 - “P” - “m’kg*) A

*) Limite di massa corporea da non superare!

Per le condizioni e le limitazioni d’uso Sfecfﬁche, vedere la
sezione Uso previsto delle istruzioni del produttore.

\_




RERAAE | NERAEEm
N—>3>75 75—
nemE

BIRICE TSy RL Y —/N\—1DERUARZEBZ I U DB TR SN TOWE It DERE

Il LUT

0)%@@950) DT%E}ZéhTL\i? ESIy ROy (Fa—7) EeldfEodrhlofunwe/royLy—/t—,

l‘z .
F & (Figure 1)
N—>3a> 75 75—
A N—>3YFFT9— ESIYRFETTI—h5EFIYRLY—/\

—F T\ Ti

B. N—=Y3Y 75 75— 30mmFa1—TU50ThMEEFIYRLY—N
—&ETCTi

C. b=3YFP5 79— 30mmF1—TT7¥ 75— Ti.275mm

D. h—=>3Y 79 79— 30mmF 21— 75 75— Ti.455mm

E. b—>3 /7977 34mmF 21— T7F T H— Ti. 275mm

F. h—>3Y7% 75— 34mmF 1—T 75 75— Ti.455mm

G. (1) M5 x 14mm D fHF 1L

H. (4) M8 x 14mm LU

ZDE] (F/gure 1) It PEFRD LB B THBEN—>3 T 5 75— (CEFH
FEDICRUEES, CNEDEBERFPETSRHELTHD, &l —E
RIFLEFEEZIEICEBLET,

FEAEN

N—=>3y 775 — 3 BRIy RERRBOBTRUNEETED LS
T 22T ARBIBOR UMY IS51 7V REEMT 2 EE2BIEL
TARATY 75 —T90.

AN\ BERGE:
. FREGING

ooy =
7I< ITA-

. RE§

A s
= IBEREBEICRDZETHEICMNLIZMATIEE W,

- RERZE BREVERKF S pHED RIF THIYMEIC
BImnTiean,

» SEREBENREISEOET DEARTEHDEHICED
ESCH

CREDHA RSTUNCREDBIF UL LU T DL SHEE, 711,

BB EALGBED VT UDFE/IdINTES | FHEETEDBDFT &

SIESHERID B UL DLy~ DT =N Y—ERETEBNE

DESEE,




RIRBEE LAY THVRER
ALY IIR—T U T ORIIRERYT Y 1 —IUICHE > TRERREITS

ig_o

P

SOBEBEDEEFEZIUCHILZHEDL

BEDEEEPE VEFELNIICED, SEICIEEBIRBED W BICBEBEEDBDE T, fHRRabamid. 30 HEER U/ ZICIRE 344
EDBDFE, BEIDZEIFIBE GRS DG DA THERY AT EARRE T 3L S5HEIOLFET,

N—23> 7575 —BORIEKRERT Y 2—)L:30B%. RVWTEE,

EAfTtaR

N—=>3>757 =y 3v7¥T5  ~—=23V7F r—>3v7% ~N—>3>7% r—>3v7%
HY—ESIYRT7  —30mmFa—TY TH—30mmF 75 —.30mmF 75— 34mmF T —34mmF
TTI—hBES  FYTHhBESIIYR 1—TF7FTH 1—TT7ETH 2= 75 7% 1—TT7ETH
SyRLY—N\—  LY—N—FTT  —.Ti275mm —.Ti.455mm —.Tix275mm —.Ti. 455mm
T
IN—VES TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34
[zt FHY FEHY FHV (LY—IN  FIY (LY—I FIV (LY—IN  FIY (LY—N
—WFIEZOL( —WTIEZOL( =)\ TILEZTL ( =)\ TFILZZTL(
SFa=")) Fa—7) SFa=7) Fa—7)
Fa—T& B9 30 mm 30 mm 30 mm 34 mm 34 mm
fHYES (B’X) 43 mm (1.7 in) 47 mm (1.9 in) 275 mm (10.8 in) 455 mm (18 in) 275 mm (10.8 in) 455 mm (18 in)
iR (&) B BEEY 83 mm (3.31in) 83mm(3.3in) 79 mm (3.1in) 79 mm (3.1in)
fEEE 393g 432¢g 567 g 670 ¢g 569 g 685¢g
BEREFIR 150 kg (330 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 150 kg (330 Ibs) 150 kg (330 Ibs)
BhioER +/-20° +/-20° +/-20° +/-20° +/-20° +/-20°
fREE 2 & REM 2 F REM 2 & REM 2 REM 2 & PRER 2 REM
ML (IE&HHL) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 Nem (11ft-Ibs) 15 Nem (11ft-Ibs) 15 N-m (11ft-Ibs) 15 Nom (11ft-Ibs)
[V1%% RN 6 N-m (4.4 ft-Ibs) EENY BN Y BN

(fHIFRL)




nPUNAE (Figure 2)
- RREHE = 7)LiEE?2 O
HRERTE = R/IEHT

LELLER
EERASET RUNE—X> MY/ BEEDICE /Y
FEy ERER UFs e
EEAET RUAE-XYME  REEEDCE| 7\
FET AR UEs !
HARZAV

M8 x 14mm LEHILE M5 x 14mm fESHFFIFRUD ALY RITiE, FrOv/
YFHEENTNET, Loctite® [FRHEHDFE Ao

B8 /R8T —E X FRERK

ALY o ORE BRI, FRENSSREADFH8BI0H NS T
HSE309 % T (REMEER (EST) T3, BRI T 61, BRI —
CROBEESEEALTHLY S/ — S H RN 5o

S il ==
BEEE
A—H— HEBL > R OEBE DRI & D3I SR S NI RBIED
WTld X—H—IFEEEFEEVHRET,

é =

TR
ALY IN—V DHBETRIFE. FZLTIARREE IR E RN EAS
NTWRWERICIFHATHRE SNICRRICR > TEREH- TARS N TWE
T INSDOBIREDBEME LTI AL VI~ T BB Z DD
RN TS ALYy VN~ EREEDHICERSNTVDBEICENTO
T =N SNET AERIF BEROERICEDNTERE - TR
SNTVWET AEEZEROBENERLTUIEDEEA,

=
A\ GEE
AEBOERTHEENRKE UGS EBICRED DERESEEIC
EIEU KTV BREE T PEE I AREICEAEVU TR ELCERR

B EALYIN—I1VT AN AR B LOBEREELORELBE
TEMBEDOEELUFBICRET DRENHDET,

TERBER EF EENEIBEENICROBEOWT NI E ST,

ESIAREMEDH D ETIEEDAIRIEDH D BMEERINET: 2) BH.
A—H—Fcl3hE DT, (b) —BNEFEENGERE, 12— —F

(3t DRRERIRAEDIRLIZBAL. ) FHIRAREE OB,

AT AT VR

AEEIF1SO 10328 ITHEHLLT 200 ARIDERFAVILETTARINT
WEF, ThiFBEDFERBICIEUT 2~3 FOEMRTICHELLET,

SO 10328 - ZANJL
K—VES HEHIR (KG)
TORTCPRT
TOR 7275 30
TOR T455 30
TOR PAPRT
TORT275 34
TOR T455 34

f
ISO 10328 - “P” - “m”kg*) A

FNITEAS

136 1SO 10328-P6-136 kg

150 1SO 10328-P7-150 kg

) HERREBA RN TS
A\ BAEBEEREPEBHIRIC DT X—A—OFBEI
BREHEN 230 ESEUTES 0,




Mg MTM | 2H BE
EM o’

Sie A2A BER2 LI2H0|E £47|9F AAE 1 HA Z0j| 4712 n7F LIAL U= HIER iHLIB2Z Y ELICh THE
1 2 1[2i0|E, IUB(FE) E= SYUI LA = T E A7 |2 24 EL T

. ox
FQ FNA (Figure 1) A\ HES:
EM 0f=HE] = SFX| H
A EM OEE] T|2t0| = OfHE-Z|2t0| = 47| Ti 27|12

o ) o/lS
B. EM O{HH, 30mm FE SYZ-I[210|= HAT| T . oEFEl HE gl
c. EM O, 30mm FE O{”E, Ti, 275mm
D. EM O{HE], 30mm FE O{EE], Ti, 455mm jc.-,lJ—l_
E. EM O{HE], 34mm FE O{HE, Ti, 275mm - -
o i - RIFE Mol 23 2Lt TeULICh
F. EM O{HE], 34mm FE O{HE, Ti, 455mm Ho HAIM SR ASS CL OCo
G, (1) MS x 1dmm ST LIA} » Ol HES RAY 22 232 L= 3=
N X Oo— =
= pHOll L= EA|Z|X] Q4&LICEH

H. (4) M8 x 14mm 173 LEAL

. THRAE F71HOR BafsiiLt HsH BYESO|
0] CtO[0{ 2 &(Figure N2 P&X H2E2I EM O/HEIS BE7tE 4 sLct
&i25] 0falfat= o =50/ gL Tt 0[2{5t HEE2 X[F oA F=E0f
7= M|~ B EAL} Chatet o AFSEILICE

2 Z2x 29[5IA|7] HFEfLICE
AE =X
EMO{gE = BE 2200 of
shears 23t Crale) v
HYSHES JokE 2 ofE L




HZ AA A fxjE| Y=

College Parki= Of2 2F ZAL 2ol w2t 8tk ZHEle 01|9|k%£ Al
HSO0| HO| LZpAALE 57 +&0] =28 If X5 ZHAH0f
Qotoz &zi50] TiE st 01 2 1]
EMEZ= m@, LH: 30 AT HA| Z 11d0)15] M

AFCk A HE
EM O{HHE{Q =

= TS

H'u Lk

FEES AE 302 1t =0f HAteHOf BILICE AFEALE 2F

7lE M

EM ojdiE], m2to|=

OfRliEf-L|2to|=

EM O,
30mm {E

EM O”E, 30mm
FE ORI, T,

EM O{"E], 30mm
FE OfHH, T,

EM Oo"E, 34mm

FE O”E, T,

EM O{”E, 34mm
FE O™, T,

27|, Ti Ef =] 275mm 455mm 275mm 455mm
7| Ti
BEHS TOR PAPRT TORTCPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34
ES ElEkE ElEts E|EHs(=217]), ElEHs($=217]), E[EHE($:2417]), E[EHE($=2417]),
L20|H(FE) LR0|H(FE) A20|E(FE) AR0|E(FE)
sExF n/a 30 mm 30 mm 30 mm 34 mm 34 mm
4UE =0| (MAX) 43 mm (1.71n) 47 mm (1.9in) 275mm (10.8in) 455 mm (18 in) 275mm (10.8in) 455 mm (18 in)
HchZo| (MIN) n/a n/a 83mm(3.3in) 83mm(3.3in) 79 mm (3.1in) 79 mm (3.1in)
=g & 393¢ 432¢ 567 g 670 ¢g 569 g 685¢
&R} XIS |3 150 kg (330 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 150 kg (330 Ibs) 150 kg (330 Ibs)
F3d +/- 20° +/-20° +/- 20° +/-20° +/-20° +/-20°
Lt 2 3y 2 5y 2 5k 2 5y 2 sy 2 5y
E3 (0H LI 15 Nem (11ft-Ibs) 15 Nem (11ft-Ibs) 15 N-m (11ft-Ibs) 15 Nem (11ft-Ibs) 15 Nem (11ft-Ibs) 15 Nem (11ft-Ibs)
E3 (D™ LAY n/a 6 N-m (4.4 ft-lbs) nla n/a n/a n/a
gA} _?,I_Jg E 7=:|_ }_X{
Ef_ (F/ ure 2) = - qrg - - - m
- 23 %.$| ~E—E+(fu|| turn) 23] dewEslE  JOD i g AgEez s }
- 3 A=A NY M= L2l s)x Sfégga sy EAAREOR B p




X1

M8 x 14mm 1 LIAIRE MS x 14mm S I LIAtOlE LIZE THX

Loctite®0li= EQ3IX| §4&LITE

71& XA|/215 MH|A 24-7-365

College Park?| H7# YR AlZH2 A2 ~ 32Y, 2 8:30 ~ 2% 5:30(EST)

QULICE O] AIZHO|Z0l|= 218 7|& MH|A WSS
A835101 College Park BR[O 7| 12f8t 4= QUELICE

2ol

HZEAS HEAT}SOI5HK] Gh2 PHR4 KB QI8 Latst &

AUX|X| FELICE

(i=

A F

College Park M| Z X T4 = HE 7Hsst 34 EE £

SA EEO| HBE|X| ¢t F At Fo| mE0|| w2t ML B AEELUCE
0|28t ZEMO| S8 A 7 F4= College Park HIZ0| CHE F College
Park 242t 8H AFSE Zolt Y ELICE O] HiE2 T X7t
ARE3H= Z0f| 7|50 M=l 1 E|AEE|QUELICE O] FX|= 092 EXt7t

ArgsliM = e ElLlct

A F2|

O HIZ A Al 2H|7h &5t ZA| 2 o 2T0)|7| Z2gIct. o

% k= 717]9h 2Esto] Willsts BE M2

AF*E College Park Industries, Inc. 2 0|S0| F2{5h= X|2of|
sistes Sl@i=el 2kt 2sof fLch

w2t ALVEE (a) BHR}, AFSAL EE= CHE ARZQ| At

(b) BXE, AFEXL EE= CHE ARREQ| 742 dEHS| AN =

2
d
YOl Y2t o5, (o) 4B 25 B2 9IE B St A

ol 424 yztet
AL AR 4 Sl AR FelgL

B4 Ab
aiet 717]= 3008 5|9 5t& F7|2 1SO 10328 E&0]| [zt HIAEL| &L
Bixte] gEof wat 3~5E0] AL F7[0i| S 4 AELICH

1ISO 10328 - 2}

HEWS Z|clf 318 5= (KG) 2fl HAE
TORTCPRT
TOR T275 30 136
TOR T455 30
TORPAPRT
TORT27534 150
TOR T455 34

ISO 10328-P6-136 kg

ISO 10328-P7-150 kg

f
1SO 10328 - “P” - “m’kg") A\

) ZI 518 5158 ZI5H| THIAS!
A A s 2y A dele

HZIH2| SA Lol MG S=of
\ Edesnaie




INSTRUCTIEBLAD | ENDOSKELETALE ONDERDELEN

Torsieadapter
PRODUCTBESCHRIJVING

Deze structurele component bestaat uit een torsiemechanisme met een piramideontvanger en vier stelschroeven op een
verbindingsuiteinde. Het andere verbindingsuiteinde bestaat uit een van de volgende zaken: piramide, mast (buis) of mastontvanger

met klemschroef.

BELANGRIJKSTE ONDERDELEN
(Figure 1)

Torsieadapters:

. torsieadapters, piramideadapter naar piramideontvanger, Ti
. torsieadapter, 30 mm buisklem naar piramideontvanger, Ti
. torsieadapter, 30 mm buisadapter, Ti, 275 mm

. torsieadapter, 30 mm buisadapter, Ti, 455 mm

. torsieadapter, 34 mm buisadapter, Ti, 275 mm

. torsieadapter, 34 mm buisadapter, Ti, 455 mm

. (1) M5 x 14 mm klemschroef

. (4) M8 x 14 mm stelschroeven

I 6mMmmoON®w >

Deze diagram (Figure 1) dient om u vertrouwd te maken met de torsieadapter,
een structureel onderdeel. Er wordt naar deze onderdelen verwezen in
de instructies en ze worden gebruikt als u spreekt met een technische

onderhoudsmonteur.

BEOOGD GEBRUIK

Torsieadapters zijn prothetische adapters die bedoeld zijn om de
torsieovereenkomst van een anatomisch ledemaat na te bootsen door
torsierotatie mogelijk te maken tussen de prothetische gewrichtskom en
prothetische voet.

/A INDICATIES:

= Amputaties van het onderbeen

/A\ CONTRA-INDICATIES:
= Geen bekend

/A\ WAARSCHUWING

* Draai gelijkmatig aan tot opgegeven instellingen.

= Stel dit product niet bloot aan bijtende stoffen, zout water
of extreme pH-waarden.

= Verdere demontage of aanpassing van de onderdelen zal

de garantie ongeldig maken.

Het niet naleven van deze richtlijnen kan leiden tot een of meer van de
volgende situaties: geluid, beweging, schade en catastrofaal falen. Neem voor
verdere vragen contact op met de technische dienst van College Park



INSPECTIE INZAKE GARANTIE EN ONDERHOUDSINFORMATIE

College Park raadt aan dat u controles inplant voor uw patiénten, in navolging van het onderstaande schema voor garantie-inspectie.

Hoog gewicht van de patiént en/of niveau van impact kan zorgen voor de noodzaak van meer frequente controles. Prothetische onderdelen moeten na de
eerste 30 dagen van gebruik worden geinspecteerd. We raden u aan om bij elke consultatie de gehele prothese visueel te inspecteren op overmatige slijtage

en vermoeidheid.

ROOSTER VOOR GARANTIE-INSPECTIE VOOR TORSIEADAPTER: 30 DAGEN, VERVOLGENS JAARLIJKS.

TECHNISCHE SPECIFICATIES

torsieadapters,

torsieadapter,

torsieadapter,

torsieadapter,

torsieadapter, 34 mm

torsieadapter, 34 mm

piramideadapter naar 30 mm buisklem naar 30 mm buisadapter, = 30 mm buisadapter,  buisadapter, Ti, buisadapter, Ti,
piramideontvanger, Ti  piramideontvanger, Ti  Ti, 275 mm Ti, 455 mm 275 mm 455 mm
Onderdeelnr. TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Materiaal Titanium Titanium Titanium (ontvanger), Titanium Titanium (ontvanger), Titanium (ontvanger),
aluminium (buis) (ontvanger), aluminium (buis) aluminium (buis)
aluminium (buis)
Buisdiameter nv.t. 30 mm 30 mm 30 mm 34 mm 34 mm
Constructiehoogte 43 mm (1,7 in) 47 mm (1,9 in) 275 mm (10,8 in) 455 mm (18 in) 275 mm (10,8 in) 455 mm (18 in)
(MAX)
Snijlengte (MIN) n.v.t. n.v.t. 83 mm (3,3 in) 83 mm (3,3 in) 79 mm (3,1in) 79 mm (3,1in)
Gewicht van de 393¢g 432¢g 567 ¢ 670 g 569 g 685¢g

constructie

Gewichtslimiet patiént

150 kg (330 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

150 kg (330 Ibs)

150 kg (330 Ibs)

Axiale rotatie

+/-20°

+/-20°

+/-20°

+/-20°

+/-20°

+/-20°

Garantie

2 jaar, beperkt

2 jaar, beperkt

2 jaar, beperkt

2 jaar, beperkt

2 jaar, beperkt

2 jaar, beperkt

Koppel (stelschroeven)

15 N-m (11ft-lbs)

15 N-m (11ft-Ibs)

15 N-m (11ft-Ibs)

15 N-m (11ft-Ibs)

15 N-m (11ft-lbs)

15 N-m (11ft-Ibs)

Koppel (klemschroef)

n.v.t.

6 N-m (4.4 ft-lbs)

n.v.t.

n.v.t.

n.v.t.

n.v.t.




TORSIEAANPASSINGEN (Figure 2)

= Bereik van aanpassing = 2 volle draaiingen
= Fabrieksinstellingen = minimale weerstand

SYMPTOOM GEWENSTE RESULTAAT AANPASSING

Draai met de
klok mee

Minder torsiemoment/

Rotatie te snel Verhoog de weerstand

Meer torsiemoment/
verlaag de weerstand

Rotatie te
langzaam

Draai tegen de
klok in

M
+
M

RICHTLIJNEN

M8 x 14 mm stelschroef en M5 x 14 mm klemschroef bevatten nylonpatch.
Loctite® is niet vereist.

TECHNISCHE ASSISTENTIE / NOODSERVICE 24-7-365
De normale kantooruren van College Park zijn maandag t/m vrijdag, 8:30 - 17:30
uur (EST). Buiten kantooruren is er een noodnummer voor de technische dienst
beschikbaar om contact op te nemen met een medewerker van College Park.

AANSPRAKELIJKHEID

De producent is niet aansprakelijk voor schade die is veroorzaakt door combinaties
van onderdelen die niet zijn geautoriseerd door de producent.

/\ LETOP

Producten en onderdelen van College Park zijn ontworpen en getest in
overeenstemming met de geldende officiéle normen of een zelf gedefinieerde
norm als er geen officiéle norm van toepassing is. Compatibiliteit met en navolging
van deze normen wordt alleen bereikt als producten van College Park worden
gebruikt met andere aanbevolen onderdelen van College Park. Dit product is
ontworpen en getest op basis van gebruik door een enkele patiént. Dit apparaat
mag NIET worden gebruikt door meerdere patiénten.

/\ LETOP

Als er problemen optreden met het gebruik van dit product, neem dan onmiddellijk
contact op met uw medisch deskundige. De prothesemaker en/of patiént moet een

ernstig ongeval® dat heeft plaatsgevonden met betrekking tot het apparaat melden
aan College Park Industries, Inc. en de bevoegde instantie van de lidstaat waarin de
prothesemaker en/of patiént is gevestigd.

*Ernstig ongeval’ wordt gedefinieerd als een ongeval dat direct of indirect

heeft geleid, had kunnen leiden of kan leiden tot een van de volgende zaken; (a)
het overlijden van een patiént, gebruiker of andere persoon, (b) de tijdelijke of
permanente ernstige verslechtering van de gezondheidstoestand van een patiént,
gebruiker of andere persoon, (c) een ernstige bedreiging van de volksgezondheid.

NALEVING

Dit apparaat is getest volgens de ISO 10328-norm bij twee miljoen belastingscycli.
Afhankelijk van de activiteit van de patiént kan dit overeenkomen met 2-3 jaar gebruik.

1ISO 10328 - ETIKET

ONDERDEELNUMMER | GEWICHTSLIMIET (KG)
TORTCPRT
TOR T275 30
TOR T455 30
TORPAPRT
TORT27534
TOR T455 34

-

1SO 10328 - “P” - “m”kg") A

TEKST OP ETIKET

136 1SO 10328-P6-136 kg

150 1SO 10328-P7-150 kg

*) De lichaamsmassalimiet mag niet worden overschreden!

Voor specifieke voorwaarden en gebruiksbeperkingen, zie het hoofdstuk
over beoogd gebruik in de schriftelijke instructies van de fabrikant.

\_




INSTRUKSJONSARK | ENDOSKELETALE KOMPONENTER

Momentadapter
PRODUKTBESKRIVELSE

Denne strukturelle komponenten bestar av en vridningsmekanisme med en pyramidemottaker og fire settskruer pa den
ene tilkoblingsenden. Den andre tilkoblingsenden bestar av ett av felgende: pyramide, pylon (rer) eller pylonmottaker

med klemskrue.

Momentadaptere

. Momentadapter, pyramideadapter til pyramidemottaker, Ti

. Momentadapter, 30 mm rerklemme til pyramidemottaker, Ti
. Momentadapter, 30 mm roradapter, Ti, 275 mm

. Momentadapter, 30 mm reradapter, Ti, 455 mm

. Momentadapter, 34 mm reradapter, Ti, 275 mm

. Momentadapter, 34 mm reradapter, Ti, 455 mm

. (1) M5 x 14mm klemmeskrue

. (4) M8 x 14mm settskruer

I OmMmmoO® >

Dette diagrammet (Figure 1) skal hjelpe deg med & gjere deg kjent med
en momentadapter, en strukturell komponent. Det refereres til disse
delene i instruksjonene og de brukes ndr du snakker med en teknisk
servicerepresentant.

TILTENKT BRUK

Momentadaptere er protetiske adaptere som er ment & etterligne
evnen for vridning til et anatomisk lem ved 3 tillate vridningsrotasjon
mellom protesehylsen og protesefoten.

NOKKELKOMPONENTER (Figure 1) A\ INDIKASJONER:

= Amputasjoner av underekstremiteter

/A\ KONTRAINDIKASJONER:

= Ingenkjente

/\ ADVARSEL

= Stram jevnt til angitt moment.

= lkke utsett dette produktet for fuktighet, saltvann eller
ekstreme pH-verdier.

= Ytterligere demontering eller modifikasjon av
komponenter vil ugyldiggjere garantien.

Unnlatelse av G felge disse retningslinjene kan fore til ett eller alt av
felgende: stoy, bevegelse, skade og katastrofal svikt. Ta kontakt med
College Park Technical Service ved ytterligere spersmal.



INFORMASJON OM GARANTIINSPEKSJON OG VEDLIKEHOLD

College Park anbefaler at du planlegger dine pasienters avtaler for inspeksjon i henhold til tidsplanen for
garantiinspeksjon nedenfor.

Hoy pasientvekt og/eller slagniva kan kreve hyppigere inspeksjoner. Protetiske komponenter ber inspiseres etter de ferste 30 bruksdagene. Vi anbefaler at
du inspiserer hele protesen for overdreven slitasje ved hver konsultasjon.

TIDSPLAN FOR GARANTIINSPEKSJON FOR MOMENTADAPTER: 30 DAGER, DERETTER ARLIG.

TEKNISKE SPESIFIKASJONER

Momentadapter, Momentadapter, Momentadapter, Momentadapter, Momentadapter, Momentadapter,
pyramideadapter til 30 mm rerklemme til 30 mm reradapter, 30 mm reradapter, 34 mm reradapter, 34 mm reradapter, Ti,
pyramidemottaker, Ti  pyramidemottaker, Ti  Ti, 275 mm Ti, 455 mm Ti, 275 mm 455 mm
Delenr. TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Materiale Titan Titan Titan (mottaker), Titan (mottaker), Titan (mottaker), Titan (mottaker),
aluminium (rer) aluminium (rer) aluminium (rer) aluminium (rer)
Rerdiameter nla 30 mm 30 mm 30 mm 34 mm 34 mm
Bygghoyde (MAKS) 43 mm (1,7 in) 47 mm (1,9 in) 275 mm (10,8 in) 455 mm (18 in) 275 mm (10,8 in) 455 mm (18 in)
Kuttelengde (MIN) n/a n/a 83mm(3,3in) 83 mm(3,3in) 79 mm (3,1in) 79 mm (3,1in)
Monteringsvekt 393¢g 432¢g 567 g 670 g 569 g 685¢g
Pasientens vektgrense 150 kg (330 Ibs) 136 kg 136 kg 136 kg 150 kg (330 Ibs) 150 kg (330 Ibs)
Aksiell rotasjon +/-20° +/-20° +/- 20° +/-20° +/- 20° +/-20°

Garanti

2 &r, begrenset

2 r, begrenset

2 ér, begrenset

2 ar, begrenset

2 ér, begrenset

2 ar, begrenset

Moment (settskruer)

15 N-m (11ft Ibs)

15 N-m (11ft Ibs)

15 N-m (11ft Ibs)

15 N-m (11ft Ibs)

15 N-m (11ft Ibs)

15 N-m (11ft Ibs)

Moment (klemskrue)

n/a

6 N-m (4,4 ft-lbs)

nla

nla

n/a

nla




MOMENTJUSTERINGER (Figure 2)

= Justeringsomréde = 2 fulle vridninger

= Fabrikkinnstilling = minimum motstand

SYMPTOM  ONSKET RESULTAT JUSTERING

For rask Mindre vridningsmoment’/ Vri med Klokken /[ ‘

rotasjon ok motstanden +
Fortreg Sterre vridningsmoment /

rotasjon senk motstanc?en Drei mot klokken _f\

RETNINGSLINJER

M8 x 14 mm settskrue og M5 x 14 mm klemskruegjenger med nylonstykke

Loctite® er ikke nedvendig.

TEKNISK ASSISTANSE/
BEREDSKAPSTJENESTE 24-7-365

Normal kontortid for College Parks er mandag til fredag kl. 08.30 - 17.30 (EST).

Etter arbeidstid er et teknisk beredskapsnummer tilgjengelig for & kontakte en
representant for College Park.

ANSVAR

Produsenten er ikke ansvarlig for skader forarsaket av komponentkombinasjoner
som ikke var autorisert av produsenten

/\ FORSIKTIG

College Park-produkter og -komponenter er designet og testet i henhold til
gjeldende offisielle standarder eller en internt definert standard nar ingen offisiell
standard gjelder. Kompatibilitet og overholdelse av disse standardene oppnas kun
nar College Park-produkter brukes sammen med andre anbefalte

College Park-komponenter. Dette produktet er designet og testet basert pa bruk
av én pasient. Denne enheten skal IKKE brukes av flere pasienter.

/\ FORSIKTIG

Kontakt lege umiddelbart dersom det oppstér problemer med bruken av dette produktet.
Proteselegen og/eller pasienten skal rapportere enhver alvorlig hendelse® som har
oppstatt i forbindelse med enheten til College Park Industries, Inc. og den kompetente
myndigheten i medlemslandet der proteselegen og/eller pasienten er etablert.

*Alvorlig hendelse’ defineres som enhver hendelse som direkte eller indirekte ledet,
kan ha ledet eller kan lede til noe av det folgende; (a) at en pasient, bruker eller annen
person der, (b) midlertidig eller permanent alvorlig forverring av en pasients, brukers
eller annen persons helsetilstand, (c) en alvorlig trussel mot folkehelsen.

SAMSVAR
Denne enheten er testet i henhold til standard ISO 10328 til to millioner
belastningssykluser. Avhengig av pasientaktivitet kan dette tilsvare 2-3 &rs bruk.

1ISO 10328 - ETIKETT

DELENUMMER | VEKTGRENSE (KG)
TORTCPRT
TOR T275 30
TOR T455 30
TORPAPRT
TORT27534
TOR T455 34

f
1SO 10328 - “P” - “m’kg*) A\

*) Grense for kroppsvekt som ikke skal overskrides!

TEKST PA ETIKETT

136 ISO 10328-P6-136 kg

150 1SO 10328-P7-150 kg

Se avsnittet om tiltenkt bruk i produsentens anvisninger for
spesifikke bruksbetingelser og -begrensninger.

\_




INSTRUKCJA | KOMPONENTY ENDOSZKIELETOWE

Adapter skretny
OPIS PRODUKTU

Ten komponent strukturalny skfada sie z mechanizmu skretnego z gniazdem piramidowym i czterema srubami ustalajacymi na

Jjednym koncu faczacym. Drugi koniec taczacy tworzy jeden z nastepujacych elementéw: piramida, wspornik (rura) lub gniazdo

wspornika ze §ruba zaciskowa.

KLUCZOWE KOMPONENTY (Figure 1)

Adaptery skretne
Adapter skretny, adapter piramidowy do gniazda piramidowego, tytan
Adapter skretny, zacisk rurowy 30 mm do gniazda piramidowego, tytan
Adapter skretny, adapter rurowy 30 mm, tytan, 275 mm

A
B.
C.
D. Adapter skretny, adapter rurowy 30 mm, tytan, 455 mm
E. Adapter skretny, adapter rurowy 34 mm, tytan, 275 mm
F. Adapter skretny, adapter rurowy 34 mm, tytan, 455 mm
G. Sruba zaciskowa (1) M5 x 14 mm

H. éruby ustalajace (4) M8 x 14 mm

Niniejszy schemat (Figure 1) pomoze w zapoznaniu sie z adapterem
skretnym, komponentem strukturalnym. Czesci te sq wymienione

w instrukcjach i ich nazw nalezy uzywac podczas rozmowy z pracownikiem
serwisu technicznego.

PRZEZNACZENIE

Adaptery skretne to adaptery protetyczne stuzace do imitowania
ruchow skretnych konczyny anatomicznej przez umozliwienie rotacji
skretnej pomiedzy gniazdem protezy i protezg stopy.

/\ WSKAZANIA:
= Amputacje konczyn dolnych

/\ PRZECIWWSKAZANIA:
= Brak

/A\ OSTRZEZENIE

= Dokrec rownomiernie do okreslonych ustawien.

= Nie narazaj niniejszego produktu na dziatanie materiatow
zracych, wody stonej lub skrajnych wartosci pH.

= Jakikolwiek dalszy demontaz lub modyfikacja
komponentow spowodujg utrate gwarancji.

Nieprzestrzeganie niniejszych wytycznych moze spowodowac
wystqpienie jednej lub wszystkich z nastepujgcych sytuaci:

hatas, ruch, uszkodzenie i kompletng awarie. W przypadku pojawienia sig
dodatkowych pytan prosimy o kontakt z dziatem wsparcia technicznego
firmy College Park.



INFORMACJE DOTYCZACE PRZEGLADU GWARANCYJNEGO | KONSERWACIJI

Firma College Park zaleca, aby zaplanowac wizyty kontrolne pacjentow zgodnie z ponizszym harmonogramem przegladow gwarancyjnych.

W przypadku pacjentow o wigkszej masie ciata i/lub wigkszego oddziatywania na produkt mogq by¢ wymagane czestsze przeglqdy.

Komponenty protetyczne nalezy sprawdzi¢ po pierwszych 30 dniach uzytkowania. Zalecamy przeprowadzenie wizualnej kontroli catej protezy pod kgtem
nadmiernego zuzycia | zmeczenia materiatu podczas kazdej konsultacji.

HARMONOGRAM PRZEGLADOW GWARANCYJNYCH DLA ADAPTEROW SKRETNYCH: PO 30 DNIACH, NASTEPNIE RAZ W ROKU.

DANE TECHNICZNE

Adapter skretny, Adapter skretny, Adapter skretny, Adapter skretny, Adapter skretny, Adapter skretny,
adapter piramidowy zacisk rurowy adapter rurowy adapter rurowy adapter rurowy adapter rurowy
do gniazda 30 mm do gniazda 30 mm, tytan, 30 mm, tytan, 34 mm, tytan, 34 mm, tytan,
piramidowego, tytan  piramidowego, tytan 275 mm 455 mm 275 mm 455 mm
Numer czesci TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Materiat Tytan Tytan Tytan (gniazdo), Tytan (gniazdo), Tytan (gniazdo), Tytan (gniazdo),
aluminium (rura) aluminium (rura) aluminium (rura) aluminium (rura)
Srednica rury nie dotyczy 30 mm 30 mm 30 mm 34 mm 34 mm
Wysokos¢ konstrukeji 43 mm (1,7 in) 47 mm (1,9 in) 275 mm (10,8 in) 455 mm (18 in) 275 mm (10,8 in) 455 mm (18 in)
(MAKS.)
Dlugosé cigcia (MIN.) nie dotyczy nie dotyczy 83 mm (3,3 in) 83 mm (3,3 in) 79 mm (3,1in) 79 mm (3,1in)
Masa zestawu 393¢g 432¢g 567 g 670 g 569 ¢g 685¢g

Ograniczenie masy
ciata pacjenta

150 kg (330 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

150 kg (330 Ibs)

150 kg (330 Ibs)

Obrét osiowy

*20°

+20°

+20°

*+20°

+20°

*+20°

Gwarancja

2-letnia, ograniczona

2-letnia, ograniczona

2-letnia, ograniczona

2-letnia, ograniczona

2-letnia, ograniczona

2-letnia, ograniczona

Moment obrotowy
(sruby ustalajace)

15 Nm (11 ft-Ibs)

15 Nm (11 ft-Ibs)

15 Nm (11 ft-Ibs)

15 Nm (11 ft-Ibs)

15 Nm (11 ft-Ibs)

15 Nm (11 ft-Ibs)

Moment obrotowy
(Sruba zaciskowa)

nie dotyczy

6 Nm (4,4 ft-Ibs)

nie dotyczy

nie dotyczy

nie dotyczy

nie dotyczy




REGULACJE SKRETU (Figure 2)

= Zakres skretu = 2 petne obroty
= Ustawienie fabryczne = minimum oporu

OBJAW POiADANY REZULTAT REGULACJA
Zbyt szybki Mniejszy moment Zortzquce‘fnzg()dme m
obrot skretu / zwigkszyc opor wskazowek zegara +
Zbytwolny  Wigkszy moment ?bréc}i&przeciwnie f\
obrot skretu )/zmmejszyé opor o ruchu

wskazowek zegara -

WYTYCZNE

Guwinty sruby ustalajacej M8 x 14 mm i Sruby zaciskowej M5 x 14 mm sa

wykonczone nylonem. Nie jest wymagane zastosowanie kleju Loctite®.

POMOC TECHNICZNA / SERWIS AWARYJNY 24-7-365

Biura firmy College Park s3 czynne od poniedziatku do piatku w godzinach
8:30-17:30 (EST). Po godzinach mozna skontaktowac si¢ z przedstawicielem
College Park pod numerem dziatu wsparcia technicznego.

ODPOWIEDZIALNOSC

Producent nie ponosi odpowiedzialnosci za szkody spowodowane przez kombinacje
komponentow, ktore nie zostaty przez niego zatwierdzone.

/\ PRZESTROGA

Produkty i komponenty firmy College Park sa projektowane i testowane zgodnie z
oficjalnie obowiazujacymi normami lub wewnetrznie zdefiniowanymi standardami, o
ile nie maja zastosowania jakiekolwiek oficjalne normy. Zgodnos¢ z tymi normami i
standardami mozna osiggnac tylko wowczas, gdy produkty College Park sg uzywane
wraz z innymi zalecanymi komponentami College Park. Niniejszy produkt zostat
zaprojektowany i przetestowany w oparciu o jego uzytkowanie przez jednego
pacjenta. Niniejszy produkt NIE powinien by¢ uzywany przez wielu pacjentow.

/N PRZESTROGA

Jesli pojawia sie jakiekolwiek problemy z uzytkowaniem niniejszego produktu, nalezy
niezwlocznie skontaktowac sie z lekarzem. Protetyk i/lub pacjent powinni zgfaszac

wszelkie powazne incydenty®, do ktorych doszto w zwiazku z zastosowaniem urzadzenia,
firmie College Park Industries, Inc. i wlasciwemu organowi panstwa czfonkowskiego,
w ktorym ma swoja siedzibe/miejsce zamieszkania protetyk i/lub pacjent.

* ,Powazny incydent” oznacza kazdy incydent, ktory bezposrednio lub posrednio
doprowadzit, mogt doprowadzic lub moze prowadzic do ktoregokolwiek z ponizszych
zdarzen: (a) $mierc pacjenta, uzytkownika lub innej osoby, (b) tymczasowe lub
trwafe powazne pogorszenie stanu zdrowia pacjenta, uzytkownika lub innej osoby,
(c) powazne zagrozenie dla zdrowia publicznego.

ZGODNOSC Z NORMAMI

Niniejszy wyrob poddano badaniom zgodnie z norma ISO 10328, w ktorych
potwierdzono wytrzymatosé do dwéch milionéw cykli obcigzenia. W zaleinoici od
aktywnosci pacjenta moze to odpowiadac 2-3 latom uzytkowania.

1ISO 10328 - OZNAKOWANIE

E‘;’gif MAKSYMALNA WAGA (KG)
TORTCPRT
TORT275 30
TOR T455 30
TOR PAPR T
TORT275 34

TOR T455 34

f
1SO 10328 - “P” - “m’kg") A

*) Nie przekracza¢ maksymalnej masy ciata!

TRESC OZNAKOWANIA

136 1SO 10328-P6-136 kg

150 1SO 10328-P7-150 kg

Szczegétowe warunki i ograniczenia uzytkowania mozna
znalezé w rozdziale , Przewidziane zastosowanie” zawartym w

pisemnej instrukcjami producenta.

.




FOLHA DE INSTRUGOES | COMPONENTES ENDOSQUELETICOS

Adaptador de tor¢ao
DESCRICAO DO PRODUTO

Este componente estrutural consiste num mecanismo de torgao com um receptor de piramide e quatro parafusos de fixagao numa
extremidade de ligagao. A outra extremidade de ligagao consiste num dos seguintes: piramide, pildo (tubo) ou receptor de pilao com

parafuso de fixagdo.

COMPONENTES CHAVE (Figure 1)

Adaptadores de torgio

A. Adaptador de torgao, adaptador de piramide para receptor de
piramide, Ti

w

. Adaptador de torgao, grampo do tubo para receptor de piramide
de 30mm, Ti

C. Adaptador de torgao, adaptador de tubo de 30 mm, Ti, 275 mm

D. Adaptador de torgao, adaptador de tubo de 30 mm, Ti, 455 mm

E. Adaptador de torgao, adaptador de tubo de 34 mm, Ti, 275 mm

F. Adaptador de tor¢do, adaptador de tubo de 34 mm, Ti, 455 mm

G. (1) Parafuso grampo M5 x 14 mm

H. (4) Parafusos de montagem M8 x 14mm

Este diagrama (Figure 1) é para ajuda-lo a familiarizar-se com um
adaptador de torgdo, um componente estrutural. E feita referéncia a estas
pegas nas instrugdes, devendo ser igualmente utilizadas ao contactar com
um representante da Assisténcia Técnica.

UTILIZAGAO PREVISTA

Os adaptadores de torgao sdo adaptadores protésicos destinados a
imitar a complacéncia torcional de um membro anatémico, permitindo a
rotagao torcional entre o encaixe protésico e o pé protésico.

/\ INDICAGOES:

= Amputagdes dos membros inferiores

/\ CONTRA-INDICAGOES:

= Nenhuma conhecida

/A AVISO

= Aperte de maneira uniforme de acordo com as definigdes
de binario indicadas.

= Nao exponha este produto a materiais corrosivos,
agua salgada ou a valores extremos de pH.

= Qualquer outra desmontagem ou modificagao dos
componentes invalidara a garantia.

O incumprimento destas diretrizes pode resultar em uma ou todas as
sequintes situagdes: ruido, movimento, danos e falha catastréfica. Para mais
questdes, entre em contacto com o Servigo Técnico de College Park.



INSPECAO DE GARANTIA E INFORMAGAO DE MANUTENGCAO

A College Park recomenda a programacao dos exames dos seus clientes de acordo com o plano de inspegao de garantia abaixo.

O elevado peso e/ou nivel de impacto do cliente poderdo exigir inspegGes mais frequentes. Os componentes da prétese devem ser inspecionados apGs os
primeiros 30 dias de utilizagdo. Recomendamos realizar a inspegdo visual de toda a prétese para verificar a existéncia de fadiga e desgaste excessivos em

cada consulta

CALENDARIO DE INSPEGAO DA GARANTIA DO ADAPTADOR DE TORGAO: 30 DIAS E, EM SEGUIDA, ANUALMENTE.

ESPECIFICAGOES TECNICAS

Adaptador de torgao,
adaptador de piramide
para receptor de

Adaptador de torgdo,
grampo do tubo para
receptor de pirdmide de

Adaptador de torgao,
adaptador de tubo de
30 mm, Ti, 275 mm

Adaptador de torgao,
adaptador de tubo de
30 mm, Ti, 455 mm

Adaptador de torgdo,
adaptador de tubo de
34 mm, Ti, 275 mm

Adaptador de torgao,
adaptador de tubo de
34 mm, Ti, 455 mm

piramide, Ti 30mm, Ti

Ref.? TORPAPRT TORPAPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34

Material Titanio Titanio Titanio (recetor), Titanio (recetor), Titanio (recetor), Titanio (recetor),
Aluminio (tubo) Aluminio (tubo) Aluminio (tubo) Aluminio (tubo)

Diametro do tubo N/A 30 mm 30 mm 30 mm 34 mm 34 mm

Altura da estrutura 43 mm (1,7 pol.) 47 mm (1,9 pol.) 275 mm (10,8 pol.) 455 mm (18 pol.) 275 mm (10,8 pol.) 455 mm (18 pol.)

(MAX)

Comprimento do corte  N/A N/A 83 mm (3,3 pol.) 83 mm (3,3 pol.) 79 mm (3,1 pol.) 79 mm (3,1 pol.)

(MIN)

Peso do conjunto 393g 432¢g 567 g 670 g 569¢g 685¢g

Limite de peso

150 kg (330 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

136 kg (300 Ibs)

150 kg (330 Ibs)

150 kg (330 Ibs)

do doente
Rotagao Axial +/-20° +/-20° +/-20° +/-20° +/-20° +/-20°
Garantia 2 anos, limitada 2 anos, limitada 2 anos, limitada 2 anos, limitada 2 anos, limitada 2 anos, limitada

Binario (Parafusos
de montagem)

Binario de 15 N-m (11
peés-lbs).

Binario de 15 N-m (11
pés-lbs).

Binario de 15 N-m (11
pés-lbs).

Binario de 15 N-m (11
pés-lbs).

Binario de 15 N-m (11
pés-lbs).

Binario de 15 N-m (11
pés-lbs).

Binario
(Parafuso grampo)

N/A

6 N-m (4.4 ft-lbs)

N/A

N/A

N/A

N/A




AJUSTES DE TORGAO (Figure 2)

= Amplitude de ajuste = 2 voltas completas

= Configuragdo de fabrico = resisténcia minima

SINTOMA RESULTADO PRETENDIDO AJUSTE

Rotagao
muito rapida

Rode no
sentido horario

Menor momento de torgao /
Aumentar a resisténcia

Rotacao
muito lenta

Menor momento de torgao /
Diminuir a resisténcia

DIRETRIZES

Parafuso de fixagdo M8 x 14 mm e roscas de parafuso de grampo M5 x 14 mm
incluem remendo de nylon. Loctite® ndo & necessaria.

ASSISTENCIA TECNICA /
SERVICO DE EMERGENCIA 24-7-365

O horério de expediente normal do College Park & de segunda a sexta, das 8h30 as
17h30 (EST). Apos este horario, esta disponivel um nimero da Assisténcia Tecnica
de emergéncia que lhe permite contactar um representante da College Park.

RESPONSABILIDADE

O fabricante ndo é responsavel por danos causados por combinagdes de
componentes ndo autorizadas pelo fabricante.

/\ ATENGAO

Os produtos e componentes da College Park sdo concebidos e testados de acordo
com as normas oficiais aplicaveis ou por normas definidas internamente quando nao
existem normas oficiais aplicaveis. A compatibilidade e conformidade com estas
normas so sao cumpridas quando os produtos da College Park séo utilizados com
outros componentes da College Park recomendados. Este produto foi concebido

e testado com base na utilizagdo por parte de um Gnico doente. Este dispositivo
NAO deve ser utilizado por varios doentes.

Rode no sentido
anti horario

M
+
_/\

/\ ATENCAO

Contacte o seu médico imediatamente se ocorrer algum problema relacionado
com a utilizagdo deste produto. O protesista e/ou doente deve relatar qualquer
incidente grave® que tenha ocorrido relacionado com o dispositivo a College Park
Industries, Inc. e a autoridade competente do Estado Membro no qual o protesista
e/ou doente esteja estabelecido.

“Incidente grave” é definido como qualquer incidente que, direta ou
indiretamente, tenha originado, possa ter originado ou possa originar qualquer
um dos seguintes; (a) a morte de um doente, utilizador ou outra pessoa, (b)

a deteriorago temporaria ou permanente do estado de saide de um doente,
utilizador ou outra pessoa, (c) uma ameaca a saide piblica grave.

CONFORMIDADE

Este dispositivo foi testado de acordo com a norma ISO 10328 para dois milhdes de
ciclos de carga. Dependendo da actividade do doente, isto pode corresponder a 2-3
anos de utilizagdo.

1SO 10328 - SELO

REFERENCIA LIMITE DE PESO (KG)
TORTCPRT
TOR T275 30
TOR T455 30
TORPAPRT
TORT275 34
TORT455 34

-

1ISO 10328 - “P” - “m”kg") A\

TEXTO DO SELO

136 1SO 10328-P6-136 kg

150 1ISO10328-P7-150 kg

\

*) O limite da massa corporal ndo pode ser excedido!

A Para condigdes especificas e restri¢ées de uso, consulte a secgdo

referente g utilizagdo prevista nas instrugdes escritas do fabricante.




FICHA DE INSTRUCOES | COMPONENTES ENDOESQUELETICOS

Adaptador de torgao
DESCRIQAO DO PRODUTO

Este componente estrutural consiste em um mecanismo de torgao com uma pirdmide receptora e quatro parafusos de ajuste na
conexao. A outra conexao consiste em um dos seguintes componentes: piramide, pilao (tubo) ou receptor de pilao com pinga

de parafuso.

COMPONENTES-CHAVE (Figure 1)

Adaptadores de torgio

A. Adaptador de torgdo, adaptador de piramide para receptador de
piramide, titanio

. Adaptador de torgao, grampo de tubo de 30 mm para receptor de
piramide, titanio
Adaptador de torgao, adaptador de tubo de 30 mm, titanio, 275 mm

w

C.

D. Adaptador de torcao, adaptador de tubo de 30mm, titanio, 455mm
E. Adaptador de torgao, adaptador de tubo de 34 mm, titanio, 275mm
F. Adaptador de torcao, adaptador de tubo de 34 mm, titanio, 455mm
G. (1) Parafusos de fixagago M5 x 14 mm

H. (4) Parafusos de ajuste M8 x 14 mm

Este diagrama (Figure 1) ajuda vocé a se familiarizar com o adaptador
de torgdo, um componente estrutural. Estas pegas sdo referenciadas
nas instrugdes e utilizadas durante o contato com um representante da

assisténcia técnica.

Adaptadores de torgao sdo adaptadores protéticos destinados a replicar
a conformidade de tor¢do de um membro anatdmico, permitindo
rotagao de torcdo entre o encaixe da protese e o pé protético.

/\ INDICAGOES:

= Amputagdes de membros inferiores

/A\ CONTRAINDICAGOES:

= Nenhuma conhecida

/\ ATENGAO

= Aperte uniformemente conforme as
configuragdes especificadas.

= Nazo exponha este produto a materiais corrosivos,
agua salgada ou pH extremo.

= Qualquer desmontagem ou modificagdo dos componentes
anulara a garantia.

O ndo cumprimento destas orientagées pode resultar em um ou todos os
sequintes: barulho, movimento, dano e falha catastrofica. Em caso de dividas,
contate o atendimento técnico da College Park.



PT-BR

INSPECAO DE GARANTIA E INFORMAGAO DE MANUTENGCAO

A College Park recomenda o agendamento de pacientes para exames de acordo com o agendamento de inspegéo garantida abaixo.

Sobrepeso do paciente e/ou alto nivel de impacto podem exigir inspe¢des mais frequentes. Os componentes prostéticos devem ser inspecionados apos os primeiros

30 dias de uso. Recomendamos que vocé verifique toda a prétese em cada consulta para averiguar desgaste excessivo e fadiga.

AGENDAMENTO PARA INSPEGAO DE GARANTIA DO ADAPTADOR DE TORGAO: 30 DIAS, DEPOIS, ANUALMENTE.

ESPECIFICAGOES TECNICAS

Adaptador de torgao,
adaptador de piramide
para receptador de

Adaptador de torgao,
grampo de tubo de
30 mm para receptor

Adaptador de torgao,
adaptador de tubo
de 30 mm, titanio,

Adaptador de torgao,
adaptador de tubo
de 30mm, titanio,

Adaptador de torgao,
adaptador de tubo
de 34 mm, titanio,

Adaptador de torgao,
adaptador de tubo
de 34 mm, titanio,

piramide, titanio de piramide, titanio 275 mm 455mm 275mm 455mm
N.* da peca TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Material Titanio Titanio Titanio (receptor), Titanio (receptor), Titanio (receptor), Titanio (receptor),

aluminio (tubo) aluminio (tubo) aluminio (tubo) aluminio (tubo)

Diametro do tubo n/a 30 mm 30 mm 30 mm 34 mm 34 mm
Altura da construgdo 43 mm (1,7 pol.) 47 mm (1,9 pol.) 275 mm (10,8 pol.) 455 mm (18 pol.) 275 mm (10,8 pol.) 455 mm (18 pol.)
(MAX.)
Comprimento do nla nla 83 mm (3,3 pol.) 83 mm (3,3 pol.) 79 mm (3,1 pol.) 79 mm (3,1 pol.)
corte (MIN.)
Peso do médulo 393¢g 4324 567¢ 670¢g 569 g 685¢

Limite de peso
do paciente

150 kg (330 Ib)

136 kg (300 Ib)

136 kg (300 Ib)

136 kg (300 Ib)

150 kg (330 Ib)

150 kg (330 Ib)

Rotagao axial

+/-20°

+/-20°

+-20°

+/-20°

+/-20°

+/-20°

Garantia

2 anos, limitado

2 anos, limitado

2 anos, limitado

2 anos, limitado

2 anos, limitado

2 anos, limitado

Torque

(Parafusos de ajuste)

15 N-m (11 pés-Ib)

15 N-m (11 pés-Ib)

15 N-m (11 pés-Ib)

15 N-m (11 pés-Ib)

15 N-m (11 pés-Ib)

15 N-m (11 pés-Ib)

Torque
(Parafuso de fixagao)

n/a

6 N-m (4,4 pe-lbs)

nla

n/a

n/a

n/a




AJUSTES DE TORCAO (Figure 2)

= Faixa de ajuste = 2 voltas completas
= Configuragées de fabrica = resisténcia minima

SINTOMA RESULTADO DESEJADO  AJUSTE

Gire no
sentido horario

Rotagédo
muito rapida

Menos movimento de torgao/
Aumenta a resisténcia

Gire no sentido

Maior movimento de torgao/
anti-horario

Reduz a resisténcia

Rotagdo
muito lenta

DIRETRIZES

Parafuso de fixagdo M8 x 14 mm e rosca para pinga de parafuso M5 x 14 mm,
vedagao de nailon inclusa. Nao é necessario o uso de Loctite®.

ASSISTENCIA TECNICAISERVIQO DE
EMERGENCIA 24X7X365

O horério normal de expediente da College Park é de segunda a sexta, das 8h30 as
17h30 (EST - horario da costa leste dos EUA e Canada). Apés o horario comercial,
um namero de Servigo Técnico de emergéncia fica disponivel para contato com um
representante da College Park.

RESPONSABILIDADE

O fabricante ndo se responsabiliza por danos causados por combinagdes de
componentes nao autorizadas pelo fabricante

/\ CUIDADO

Os produtos e componentes da College Park foram projetados e testados de
acordo com os padrdes oficiais aplicaveis ou um padrao definido interno quando

)
+
_f\

um padréo oficial nao for aplicavel. A compatibilidade e conformidade com estes
padrdes sdo obtidas somente quando os produtos da College Park s3o utilizados
com outros componentes recomendados da College Park. Este produto foi
projetado e testado baseado no uso individual do paciente. Este dispositivo NAO
deve ser usado por mais de um paciente.

/\ CUIDADO

Mediante ocorréncia de quaisquer problemas de uso deste produto, entre em
contato imediatamente com um profissional médico. O protético e/ou paciente
deve relatar qualquer incidente sério* que tenha ocorrido em relagéo ao dispositivo
a College Park Industries, Inc. e a autoridade competente do Estado-Membro em
que o protético e/ou paciente esta estabelecido.

*Incidente grave” é definido como qualquer incidente que direta ou indiretamente
levou, pode ter levado ou pode levar a qualquer um dos seguintes; (a) a morte

de um paciente, usuario ou outra pessoa, (b) a deterioracdo grave temporaria ou
permanente do estado de salide de um paciente, usuario ou outra pessoa, () uma
séria ameaga a salde pUblica.

CONFORMIDADE

Este produto foi testado de acordo com o padrdo ISO 10328 em dois milhdes de
ciclos de carga. A depender das atividades do paciente, isso pode corresponder a 2
ou 3 anos de uso.

1SO 10328 - SELO
NUMERO DE PEGA
TORTCPRT
TOR 1275 30
TOR T455 30
TOR PAPRT
TORT275 34
TOR T455 34

-

1ISO 10328 -

LIMITE DE PESO (KG) | TEXTO DO SELO

136 1SO 10328-P6-136 kg

PT-BR

150 1SO10328-P7-150 kg

“pr “m”kg*) A

*) O limite da massa corporal ndo deve ser excedido!

A Para saber as condiges especificas e limitagées de uso, consulte a
segdo sobre o uso pretendido nas instrugdes do fabricante.




MHCTPYKUUN | SHAOCKEAETHBIE KOMMOHEHTHI

TopcroHHbIV apanTep
ONMUNCAHUE USAEAUNA

DTOT KOHCTPYKTUBHbBIN SAEMEHT BKAIOYAET B ce6A TOPCUMOHHbIN MEXaHU3M C MMPaMUAAAbHBIM MPUEMHUKOM U YeTbipe
YCTaHOBOYHbIX BUHTa Ha OAHOM COEAMHUTEABHOM KOHLE. Ha ApYromM COeAHUTEABHOM KOHLLE YCTAaHOBAEH OAMH U3 CAEAYIOLMX
SAEMEHTOB: MUPaMUAQ, MUAOH (TPYBKa) AN MPUEMHMK MUAOHA C 3a>KUMHbBIM BUHTOM.

TopcuoHHble apanTepbi
A. TopCrOHHbIN apanTep, NMpaM1AaAbHbI apanTep —
NMPaMUAGAbHBIN NPUEMHNK, Ti

npvieMHuk, Ti
. TopcroHHbIli apantep, TPy6HbIn asantep 30 Mm, Ti, 275 MM

. TopcroHHbI apanTep, Tpy6HbI asantep 30 MM, Ti, 455 MM

C
D
E. TopcuoHHbilt apantep, Tpy6HbIN apantep 34 MM, Ti, 275 MM
F. TopcunoHHbi apanTtep, TPy6HbIN apantep 34 MM, Ti, 455 Mm
G,

. 3axknMHON BUHT M5 x 14 MM (1)

H. YcraHoBouHble BUHTH M8 x 14 MM (4)

OCHOBHbIE KOMMOHEHTbI (Figure 1)

B. TopcuoHHbIN apantep, TPy6HbIN 3aXnM 30 MM — MMPaMUAAAbHbIN

C nomouybto aTou cxembl (Figure 1) Bbl MOXKeTe 03HAKOMUTLCA

C TOPCHMOHHbIM 8AaMTEPOM, KOTOPbIN ABAAETCA KOHCTPYKTUBHbBIM
3AEeMEHTOM. DTu Ha3BaHWA BCTPEYaIOTCA B TEKCTE

WMHCTPpYKUni. Kpome Toro, nx HeobxoAnMMO 3HaTb Npu obLyeHnmn
C npeAcTaBUTEAEM TEXHUYECKOM CAYKObI.

NMPEAYCMOTPEHHOE NPUMEHEHUE

TOpCMOHHbIe apanTepbl NPeACTaBAAIOT coboin apanTtepbl
npoTe3npoBaHnA, NpeAHasHa4YeHHble AAA UMUTaunn TOpCMOHHOIZ
MAACTUYHOCTM aHaTOMUYECKON KOHEYHOCTM 3a cyeT obecneyeHus
TOPCMOHHOTO BPALLEHWUA MEXAY KYABTENPUEMHOW MMAB30W U NPOTE3HbIM
YCTPOWCTBOM CTOMbI.

/A\ NOKA3AHMA K NPUMEHEHUIO

= AMnNyTauma HAXHUX KOHeYHOCTen

/A\ NPOTMBOMNOKASAHMA

= Het aaHHbIX

A NMPEAYNPEXAEHUE

3aTArmBaiTe PaBHOMEPHO C yKa3aHHbIM
MOMEHTOM 3aTAXKMN.

= He noaBepraiite 3T0 n3AeAME BO3AEMCTBUIO arpecCcmBHbIX
MaTepuanos, COAEHOM BOAbI AU MaTepManoB C O4eHb
BbICOKMM UAU HU3KUM 3Ha4YeHuem pH

= Aoban panbHenwan pasbopka uam Moandukaumsa
KOMMOHEHTOB aHHYAUPYET rapaHTuto.

HesbinoAHeHne aTux peKOMeHAaU,Vﬂ;Y MOXKEeT MpnBecTn K OAHO;V
HAM BCEM N3 CAeAytoLLnX HeWCﬂpaBHOCTe;ﬂ MOCTOPOHHNM 3ByKaM,
nepemMeLleHnto, NoBPeXXAeHWO 1 BHe3arnHoMy OoTKasy. anV HaAn4mmn
AOMOAHUTEAbHbBIX BOMPOCOB 06palyanTech B TEXHUYECKYIO CAYK6BY
College Park.



MHO®OPMALIMA O TAPAHTUMHbBIX MPOBEPKAX U OBCAY>KUBAHUU

College Park pekomeHayeT, 4TO6bI Bbl TAGHMPOBAAM AAA CBOMX MALMEHTOB NPOBEPKM B COOTBETCTBIM C rPaduKOM rapaHTUHBIX MPOBEPOK HIXKE.

boAbLIOl BeC nauymneHTa u/uAn ypoBeHb BO3AEICTBIA MOryT noTpeboBaTb boAee YacTbiX MPOoBepPOK. KOMMNOHEHTb NpoTe3a HeO0bX0ANMO
nposepuTb Yyepes nepsbie 30 AHeli ncnoAb3osaHuA. Mbl pekoMeHayeM BaM BU3yaAbHO MPOBEPATH BECh NPOTE3 Ha NPeAMET YPe3MepPHOro n3Hoca
M YCTaAOCTM MaTePUanoB Ha KaKAOM KOHCYAbTaUMM.

rPAOUK FAPAHTUWHbIX MPOBEPOK TOPCUOHHOI O AAAMTEPA: YEPE3 30 AHEW, 3ATEM EXXETOAHO.

TEXHNYHECKUNE XAPAKTEPUCTUKIN

TopcuoHHbIl aaanTep,
NMPaMMAAAbHBIN
apantep —

TopcroHHbIn apanTep,
TPy6HbIN 3axK1M 30
MM — TMPaMUAAAbHBI

TopCcUOHHBIV
apanTep, TPy6GHbIA
apantep 30 MM, Ti,

TopcUOHHBI
apanTep, Tpy6HbI
apantep 30 MM, Ti,

TopCUOHHBI
apantep, Tpy6HbIN
aaantep 34 mm, Ti,

TopcHOHHBI
apanTep, Tpy6HbI
apantep 34 mm, Ti,

NUpPaMUAAAbHBIA npuemHuk, Ti 275 MM 455 Mm 275 MM 455 Mm
npvemMHuk, Ti
Ne no karanory TORPAPRT TORTCPRT TORT275 30 TORT455 30 TORT275 34 TORT455 34
Marepuan Turtan Turtan TutaH (np ), Tutan (np! ), TutaH (NpUeMHUK), TuTaH (NpUeMHKK),
antoMUHWIA (TPy6Ka)  aAtoMuUHuii (Tpy6Ka) — aAloMuHWiA (Tpy6Ka) aAloMUHWI (Tpy6Ka)
Awamerp Tpy6kn HeT aAaHHbIX 30 MM 30 MM 30 MM 34 MM 34 MM
BbicoTa c6opku 43 MM (1,7 atorima) 47 mm (1,9 atorima) 275 MM 455 mm (18 atorima) 275 mm (10,8 atomma) 455 mm (18 atoiima)
(MAKC.) (10,8 atovima)
AnaviHa o6pe3ku HeT AaHHbIX HeT AaHHbIX 83 MM (3,3 aloiima) 83 MM (3,3 atonima) 79 MM (3,1 atonma) 79 MM (3,1 atonima)
(MMH.)
Becyzna 393r 4321 567r 670 r 569 r 685r
MpeaeAbHbIN BeC 150 kr (330 ¢pyHTOB) 136 kr (300 dpyHTOB) 136 kr (300 pyHToB) 136 kr (300 dpynToB) 150 kr (330 dpyHToB) 150 kr (330 dpyHTOB)
Oceeoe Bpawenme  +/- 20° +/-20° +/- 20° +/-20° +/-20° +/-20°
lFapaHTus 2ropa, 2 roaa, 2 roaa, 2 roaa, 2roaa, 2 roaa,
orpaHuyeHHas orpaHudyeHHas orp: orp: orp: orp:
MomeHT 3aTaXKKKN 15SHM 15Hm 15 H™m 15 Hm™m 15Hm 15 Hm™m

(ycraHoBouHbIE
BWUHTbI)

(11 dyTo-dpyHTOB)

(11 pyro-dpyHTOB)

(11 $yTo-dpyHTOB)

(11 dyTo-dpyHTOB)

(11 pyTo-dpyHTOB)

(11 dyTo-dpyHTOB)

MomMeHT 3aTaXKN
(3a)KMMHOWM BUHT)

HeT aaHHbIX

6 H-m (4,4 dyTo-dpyHTa)

Het AaHHbIX

HeT aaHHbIX

HeT aAaHHbIX

HeT aaHHbIX




TOPCUOHHDbIE PEFTYAUPOBKM (Figure 2)

= AmanasoH peryaupoBkmu = 2 MOAHbIX MOBOPOTa
= 3aBOACKasA HaCTpOliKa = MWHMMaAbHOE CONPOTUBAGHUE

CAMINTOM

Canwkom Membwinin kpyTawmin - MosepHuTe m
6bicTpOe MOMEHT/yBeANYEeHNEe MO 4acoBOU

BpalleHNe  CONPOTMBAEHUA cTpeAke +
Canwkom Boabwnin kpyTAwmin  MosepHuTe f\
MEeAAEHHOE  MOMEeHT/yMeHblieHne MNpPOTUB YacoBOM
BpalleHne  CONPOTUBAEHUA CTpeAkM -
WHCTPYKLUUMN

Pe3bbbl ycTaHOBOYHOTO BUHTa M8 x 14 MM 1 3a>kuMHOro BUHTa M5 x 14
MM BKAIOYaIOT HellAoHOBble BcTaBkM. CpeacTBO Loctite® He TpebyeTca.

KPYTAOCYTOYHAA TEXHUYECKAA NOMOLUb U
SKCTPEHHOE OBCAY>XUBAHUE

O6biuHoe Bpema paboTbl College Park — ¢ NoHeaeAbHMKa MO NATHYMLLY,
¢ 08:30 70 17:30 (cTaHAapTHOE BoCcTOuHOE BpeMa). B Hepaboyee
BpPEMA MOXHO cBA3aTbcA C NnpeacTasuTesem College Park, nossoHue no
HOMEPY 3KCTPEHHOTO BbI30Ba TEXHUYECKOW CAYXKObI.

MpounsBoanTeAb He HeceT OTBETCTBEHHOCTH 3a yLepb, Bbi3BaHHbI
MCNOAb30OBaHWEM COYEeTaHU KOMMOHEHTOB, KOTOPblEe He 6bIAU
paspelleHsl NPOV3BOAUTEAEM.

/A BHUMAHME

W3aeans v komnoHenTsi College Park paspabatbisatotca 1 Tectupytorca

B COOTBETCTBUM C NPUMEHNMbIMU Od)I/ILLV\a/\be\MVI CTaHpapTaMun AN
BHYTPEHHUM CTAHAAPTOM KOMMaHUM, CAU HE MPYMEHAETCA OPULIMAABHBIN
cranaapT. COBMECTVIMOCTb 11 COOTBETCTBUE STUM CTaHAGPTaM AOCTUrAIOTCA
TOAbKO TOrag, koraa nsaeava College Park ricnonssyrotca ¢ apyrimm
peKkoMeHAOBaHHbIMY koMoHeHTaMu College Park. 910 saeAne paspaboTaHo
W NPOTECTUPOBAHO Ha OCHOBE NCMOAb30BaHNA OAHUM MauneHTOM. 9TO
ycTpocTBo HE AOAXHO MCMOAB30BATLCA HECKOABKVMU NaLeHTaMu.

/\ BHUMAHME

Ecan npu ncnoAb3oBaHuM 3TOro U3AEANA BOZHVKHYT Kakune-Ambo
npobAeMmbl, HeMeaAeHHO obpaTuTeck K Bpauy. [poTesnct u/man
naumeHT AOAXKHbI coobuiate komnaHum College Park Industries, Inc.

1N KOMMETEHTHbIM OpraHam rocyAapcrea-y4yacTHuKa, B KOTOPOM
HaxOAMTCA MPOTE3NCT U/WAKN NaLMEHT, O ALOBbIX CEPbe3HbIX
VHLUMAEHTaX", KOTOpPble NPOU3OLLAM C YCTPONCTBOM.

*Moa cepbe3HbIMU MHUMAEHTaMUN MOHUMAIOTCA AloOble MHLMAEHTI,
KOTOPbIE MPAMO MAW KOCBEHHO MPUBEAV UAWM MOTYT NPUBECTU K
AOBOMY 13 CAeAYIOLMX YCAOBWMIA: (a) CMEPTb NaumMeHTa, NoAb3oBaTeAA
VAU Apyroro Anua, (b) BpemMeHHoe nan HeobpaTuMoe cepbesHoe
YXyALIEHWE COCTOAHUA 3A0POBbA NaLMeHTa, MOAb30BaTEAA UAN
Apyroro anua, (c) cepbesHas yrposa obLwecTBEHHOMY 3A0POBbIO.
COOTBETCTBUE

370 YCTPOICTBO NPOTECTUPOBAHO B COOTBETCTBUM CO CTaHAapToM ISO 10328 Ha
/1Ba MUAIMOHA LMK/IOB Harpy3Ku. B 3aBMCMMOCTM OT aKTUBHOCTM NaLMEHTa 3TO
3HaYeHMe MOKET COOTBETCTBOBATL 2—-3 rOAaMm SKCMyaTaumum.

1SO 10328 - 3STUKETKA

HOMEP JETANN | NPEAE/bHbIV BEC (K)| TEKCT 3TUKETKU
TORTCPRT
TORT275 30 136 ISO10328-P6-136 kg
TOR T455 30
TORPAPRT
TORT275 34 150 1ISO10328-P7-150 kg
TOR T455 34
f
1SO 10328 - “P” - “m”kg*) A
*) OrpaHuyeHue no macce Tena, p A b!
A Onp YCNI0BIA 1 OFP: MCMONb30BaHMA CM. B paszene
NPeAyCMOTPEHHOTO NPUMEHEHWA MCbMEHHBIX UHCTPYKLMIA NpousBoAuTeNs.




INSTRUKTIONSBLAD | ENDOSKELETALA KOMPONENTER

Torsionsadapter
PRODUKTBESKRIVNING

Denna strukturella komponent bestér av en torsionsmekanism med en pyramidmottagare och fyra installningsskruvar
pa en anslutningsande. De andra anslutningsandarna bestar av en av foljande: pyramid, pylon (ror) eller pylonmottagare
med klamskruv.

H UVU D KOM PO N E NTE R (/:igure 7) protesfastet och protesfoten.
/\ INDIKATIONER:

= Amputationer i nedre extremiteterna

Torsionsadaptrar

A. Torsionsadapter, pyramidadapter till pyramidmottagare, Ti
B. Torsionsadapter, 30 mm rérklamma till pyramidmottagare, Ti
' ' KONTRAINDIKATIONER:
C. Torsionsadapter, 30 mm roradapter, Ti, 275 mm A B
D. Torsionsadapter, 30 mm roradapter, Ti, 455 mm * Ingakinda
E. Torsionsadapter, 34 mm roradapter, Ti, 275 mm
F. Torsionsadapter, 34 mm roradapter, Ti, 455 mm A VARNING
G. (1) M5 x 14 mm klamskruv *= Dra at jamnt till angivna installningar.
H. (4) M8 x 14 mm installningsskruv = Utsatt inte den har produkten for fratande material,
Detta diagram (Figure 1) hjglper dig att bli bekant med en saltvatten eller extremt PH.
torsionsadapter, en strukturell komponent. De har delarna anvands - Al ytterligare demontering eller modiﬁering

i instruktionerna och hanvisas till nar du pratar med en teknisk k k hs .
servicerepresentant. av komponenter kommer att upphava garantin.
Underldtelse att félja dessa riktlinjer kan leda till ndgot eller samtliga av

AVSEDD ANVANDNING foljande fel: oljud, rérelse, skador och totalt haveri. Kontakta College

Torsionsadaptrar ar protesadaptrar avsedda att efterlikna torsionen Parks tekniska service om du har ytterligare frégor.

i en anatomisk lem genom att medge torsionsvridning mellan



INFORMATION OM GARANTIINSPEKTION OCH UNDERHALL

College Park rekommenderar att du bokar in dina patienter for kontroller enligt schemat for garantiinspektioner nedan.

H&g patientvikt och/eller sttniva kan krdva tdtare inspektioner. Proteskomponenter bor inspekteras efter de forsta 30 dagarnas anvdndning
Vi rekommenderar att du visuellt inspekterar hela protesen for 6verdrivet slitage och férsvagning vid varje konsultation.

SCHEMA FOR GARANTIINSPEKTIONER AV TORSIONSADAPTER: 30 DAGAR, SEDAN ARLIGEN.

TEKNISKA SPECIFIKATIONER

Torsionsadapter, Torsionsadapter, Torsionsadapter, Torsionsadapter, Torsionsadapter, Torsionsadapter,
pyramidadapter till 30 mm rorklamma till 30 mm roradapter, 30 mm réradapter, 34 mm réradapter, 34 mm réradapter, Ti,
pyramidmottagare, Ti  pyramidmottagare, Ti Ti, 275 mm Ti, 455 mm Ti, 275 mm 455 mm
Artikelnummer TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT27534 TOR T455 34
Material Titan Titan Titan (mottagare), Titan (mottagare), Titan (mottagare), Titan (mottagare),
aluminium (ror) aluminium (ror) aluminium (ror) aluminium (ror)
Rordiameter Ej tillampligt 30 mm 30 mm 30 mm 34 mm 34 mm

Uppbyggnadshsjd 43 mm (1,7 tum) 47 mm (1,9 tum) 275 mm (10,8 tum) 455 mm (18 tum) 275mm (10,8 tum) 455 mm (18 tum)
(MAX)

Skérlingd (MIN) Ej tillampligt Ej tillampligt 83 mm (3,3 tum) 83 mm (3,3 tum) 79 mm (3,1 tum) 79 mm (3,1 tum)
Vike 393 432 S567¢ 670¢g 569 g 685

Viktgrins for patient 150 kg (330 1) 136 kg (300 Ib) 136 kg (300 Ib) 136 kg (300 Ib) 150 kg (330 Ib) 150 kg (330 Ib)
Axiell rotation +/-20° +/-20° +/-20° +/-20° +/-20° +/-20°

Garanti 2 &, begransad 2 ér, begransad 2 &r, begransad 2 &r, begransad 2 ér, begransad 2 &r, begransad
/&tdragningsmoment 15 Nm (11 ft-Ib) 15 Nm (11 ft-Ib) 15 Nm (11 ft-Ib) 15 Nm (11 ft-Ib) 15 Nm (11 ft-Ib) 15 Nm (11 ft-Ib)

(instéllningsskruv)

Atdragningsmoment

(klamskruv)

Ej tillimpligt

6 Nm (4,4 ft-Ib)

Ej tillimpligt

Ej tillimpligt

Ej tillimpligt

Ej tillimpligt




TORSIONSJUSTERINGAR (Figure 2)

= Justeringsomrade = 2 hela varv
= Fabriksinstallning = minsta motstand

TOM ONSKAT RESULTAT  JUSTERING
For litet
F?H(ztfamm bb torsionsmoment/ Vrid medurs r\
alitforsna oka motstand +
Forstort
RH(;(F&U‘O? torsionsmoment/ Vrid moturs [-\
alitroriangsam  mincka motstand =

RIKTINJER

M8 x 14 mm installningsskruv och M5 x 14 mm klamskruvsgangor inkluderar
nylonl&sning. Loctite® behovs inte.

TEKNISK ASSISTANS/AKUT SERVICE ALLA
DAGAR DYGNET RUNT

College Parks normala kontorstider ar mandag till fredag, 8.30-17.30 (EST).
Utanfor arbetstid finns det ett nummer for akut teknisk service som man kan
kontakta en College Park-representant med.

ANSVAR

Tillverkaren ansvarar inte for skador orsakade av komponentkombinationer som
inte har godkants av tillverkaren

/\ FORSIKTIGHET

College Parks produkter och komponenter ar konstruerade och testade enligt
géllande officiella standarder eller en internt definierad standard nar ingen officiell
standard ar tillimplig. Kompatibilitet och efterlevnad av dessa standarder uppnas
endast nar College Park-produkterna anvands med andra rekommenderade
College Park-komponenter. Denna produkt har utformats och testats baserat pa
enpatientsbruk. Enheten ska INTE anvéndas av flera patienter.

/A FORSIKTIGHET

Om det uppstar problem med anvandningen av produkten ska du kontakta

din lakare omedelbart. Ortopedingenjéren och/eller patienten ska rapportera

alla allvarliga incidenter* som har intréffat i samband med enheten till College
Park Industries, Inc. och den behdriga myndigheten i den medlemsstat dar
ortopedingenjoren och/eller patienten ar baserad.

*’Allvarlig incident” definieras som varje incident som direkt eller indirekt ledde, kan
ha lett eller kan leda till ndgot av foljande; (a) en patients, anvandares eller annan
persons dad, (b) en tillfallig eller permanent allvarlig forsamring av en patients,

anvandares eller annan persons hlsotillstand, (c) ett allvarligt hot mot folkhalsan.

EFTERLEVNAD

Denna anordning har testats enligt standard SO 10328 for tva miljoner
belastningscykler. Beroende pé patientens aktivitet kan detta motsvara
2-3 ars anvandning.

1ISO 10328 - ETIKETT
DELNUMMER | VIKTGRANS (KG)
TORTCPRT

TOR T275 30 136

TOR T455 30

TORPAPRT

TORT275 34 150

TOR T455 34

-

1SO 10328 - “P” - “m7kg®) AN

ETIKETTEXT

1SO 10328-P6-136 kg

1SO 10328-P7-150 kg

*) Gransen for kroppsmassa far inte overskridas!
PP

A Mer information om specifika villkor och begrdnsningar for anvandning
finns i avsnittet Avsedd anvandning i tillverkarens skriftliga anvisningar.




TALIMAT FORMU | iC ISKELET BILESENLERI

Torsiyon Adaptoru
URUN ACIKLAMASI

Bu yapi elemani, bir baglanti ucunda piramit alicisi ve dort ayar vidasina sahip bir torsiyon mekanizmasindan olugur.
Diger baglanti ucu, sunlardan birini igerir: piramit, pilon (boru) ya da kelepce vidali pilon alici.

BASLICA BILESENLER (Figure 1)

Torsiyon Adaptdrleri

Torsiyon Adaptéri, Piramit Alicisina Piramit Adaptér, Ti

. Torsiyon Adaptord, Piramit Alicisina 30 mm Boru Kelepgesi, Ti
. Torsiyon Adaptdrii, 30 mm Boru Adaptéri, Ti, 275 mm

. Torsiyon Adaptérii, 30 mm Boru Adaptéri, Ti, 455 mm

. Torsiyon Adaptori, 34 mm Boru Adaptord, Ti, 275 mm

. Torsiyon Adaptdr, 34 mm Boru Adaptéri, Ti, 455 mm

. (1) M5 x 14 mm Kelepge Vidasi

H. (4) M8 x 14 mm Ayar Vidalari

O m m o 0N @ >

Bu sema (Figure 1), bir yapi elemani olan torsiyon adaptérini tanimaniz
igin hazirlanmigtir. Bu pargalar, talimatlarda geger ve teknik servis
temsilcisiyle konusurken kullanilir.

KULLANIM AMACI

Torsiyon Adaptarleri, protez soket ve protez ayak arasinda torsiyon
rotasyonunu saglayarak anatomik bir uzvun torsiyon uyumunu taklit
etmesi amaglanan protez adaptérlerdir.

/A\ ENDIKASYONLAR:

= Alt ekstremite ampiitasyonlari

/A\ KONTRENDIKASYONLAR:

= Bilinen yoktur

/\ UYARI

= Belirtilen tork degerlerine esit sekilde sikin.

= Bu urunl agindirici maddeler, tuzlu su veya agiri pH
degerlerine maruz birakmayin.

* Bilegenlerde ilave demontaj veya modifikasyon yapilmasi
halinde garanti gegersiz kalir.

Bu kilavuzlara uyulmamasi halinde gdrdiltli, hareket, hasar ve ciddi
arizadan biri ya da hepsi meydana gelebilir. Baska sorulariniz varsa litfen
College Park Teknik Servis birimiyle iletisime gegin.



GARANTI DENETiIMi VE BAKIM BiLGILERI

College Park, asagidaki Garanti Denetim programina gore hastalarinizla kontrol programi yapmanizi 6nerir.

Kilolu hastalarda ve/veya yiksek darbe seviyesinde daha sik denetim yapilmasi gerekebilir. Protez bilesenleri, ilk 30 ginliik kullanimin ardindan
incelenmelidir. Her konsdiltasyonda bitin protezi agiri yipranma ve aginma bakimindan gérsel olarak incelemenizi 6neririz.

TORSIYON ADAPTORU iCiN GARANTI DENETIM PROGRAMI: 30 GUN, ARDINDAN YILDA BiR.

TEKNiK OZELLIKLER

Torsiyon Adaptort,  Torsiyon Adaptord, Torsiyon Adaptorl,  Torsiyon Adaptorl, — Torsiyon Adaptorl, — Torsiyon Adaptérd,
Piramit Alicisina Piramit Alicisina 30 mm 30 mm Boru 30 mm Boru 34 mm Boru 34 mm Boru
Piramit Adaptor, Ti~ Boru Kelepgesi, Ti Adaptord, Ti, Adaptéri, Ti, Adaptori, Ti, Adaptéri, Ti,
275 mm 455 mm 275 mm 455 mm
Parga No. TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34
Malzeme Titanyum Titanyum Titanyum (alicn), Titanyum (alicn), Titanyum (alicn), Titanyum (alicn),
Aliminyum (boru)  Alliminyum (boru)  Altiminyum (boru) Aliminyum (boru)
Boru Cap yok 30 mm 30 mm 30 mm 34 mm 34 mm
Yap: Yiiksekligi 43 mm (1,7 ing) 47 mm (1,9 ing) 275 mm (10,8 ing) 455 mm (18 ing) 275mm (10,8 ing) 455 mm (18 ing)
(MAKS)
Kesim Uzunlugu yok yok 83mm (3,3ing) 83mm(3,3ing) 79mm(B,ling) 79 mm (3,1ing)
(MIN)
Tertibat Agirhig 393g 432¢g 567 g 670 g 569¢g 685¢g
Hasta Agirlik Sinini 150 kg (330 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 136 kg (300 Ibs) 150 kg (330 Ibs) 150 kg (330 Ibs)
Eksenli Rotasyon +/-20° +/-20° +/-20° +/-20° +/-20° +/-20°
Garanti 2 Yil, sinirh 2Yil, simirh 2 Yil, simirh 2Yil, simirhy 2 Yil, simirch 2Yil, simirh
Tork (Ayar Vidalar) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs) 15 N-m (11ft-Ibs)
Tork (Kelepge Vidas))  yok 6 N-m (4,4 ft-lbs) yok yok yok yok




TORSIYON AYARI (Figure 2)
= Ayararalig = 2 tam donig
= Fabrika ayari = minimum direng

SEMPTOM ISTENEN SONUG AYAR

Rotasyon Daha dusik torsiyon Saat yonune m
cok hizl momenti/ Direnci Artirin dondurin +
Rotasyon Daha yiiksek torsiyon Saat yoninin

gok yavag momenti/ Direnci Azaltin tersine dondurin _{\

KILAVUZLAR

M8 x 14 mm ayar vidasi ve M5 x 14 mm kelepge vidasi dileri, naylon bant igerir.
Loctite® gerekli degildir.

TEKNIK YARDIM / ACIL SERVIS 24-7-365
College Parkin normal galigma saatleri Pazartesi-Cuma, 8:30 - 17:30'dur (EST).
Galigma saatleri diginda, acil durum Teknik Servis numarasindan bir College Park
temsilcisiyle irtibata gegilebilir.

SORUMLULUK

Uretici, kendisi tarafindan onaylanmamig bilegen kombinasyonlarinin neden oldugu
hasarlardan sorumlu tutulamaz

/\ DIKKAT

College Park trinleri ve bilesenleri, gegerli resmi standartlara veya gegerli bir
resmi standart olmadiginda firma iginde tanimlanmig bir standarda uygun olarak
tasarlanir ve test edilir. College Park tiriinleri, yalnizca dnerilen diger College Park
bilegenleriyle kullanildiginda bu standartlara uygunluk ve uyum saglanir. Bu triin,
tek bir hastanin kullanimina gére tasarlanmig ve test edilmistir. Bu cihaz birden fazla
hasta tarafindan KULLANILMAMALIDIR.

/\ DiKKAT

Bu trtin kullanilirken bir sorun olusursa, hemen tibbi uzmaninizla iletisime gegin.
Protez uzmani ve/veya hasta, cihazla iliskili olarak meydana gelen ciddi olaylar®
College Park Industries, Inc. firmasina ve protez uzmani ve/veya hastanin yerlesik
oldugu tye devletin yetkili makamina bildirmelidir.

*'Ciddi olay", sunlardan birine dogrudan ya da dolayli olarak yol agms, yol agmis olan
veya yol agabilecek herhangi bir olay olarak tanimlanir: (a) Bir hastanin, kullanicinin
ya da bagka kisinin 6limd, (b) Bir hastanin, kullanicinin ya da baska kisinin saglik
durumunda gegici ya da kalici ciddi bozulma, (¢) Ciddi halk saghg: tehdidi.

UYUM

Bu cihaz, ISO 10328 standardi uyarinca iki milyon yik donglsiine kadar test
edilmistir. Hasta aktivitesine bagli olarak bu stire 2-3 yillik kullanima kargilik gelebilir.

I1SO 10328 - ETIKET

PARCA NUMARASI
TORTCPRT
TOR T275 30
TOR T455 30
TORPAPRT
TORT27534
TORT455 34

AGIRLIK SINIRI (KG) | ETIKET METNi

136 1SO 10328-P6-136 kg

150 1SO 10328-P7-150 kg

1SO 10328 - “P” - “m’kg") A\

*) Viicut kitle siniri agilmamalidir!

Ozel kullanim kogullari ve sinirlamalari iin Greticinin yazil
talimatlari icindeki kullanim amaci bolimine bakin




BYKNET 3 IHCTPYKUIAMM | EHAOCKENETHI KOMMOHEHTW

TopcioHHWIM aganTep
onuc BuPOby

Llei KOMNOHEHT KOHCTPYKLLT CKNaAAETbCA 3 TOPCIOHHOMO MEXaHi3MY 3 KOHYCHO MPUManbHOK YaCTUHOIO Ta YOTUPMA PeryatoBanbHUMM
rBUHTaMM Ha OAHOMY 3'€1HYBaNbHOMY KiHLi. [pyruii 3'eAHYBaNbHWIA KiHELb CKNALAETLCA 3 OAHOTO 3 TaKMX KOMMOHEHTIB: KOHYCHA YacTuHa,
OnopHa CTilKa (TpybKa) abo npuiimansHa YacTHa AN CTIMKM i3 3aTUCKHUM TBUHTOM.

KNtOYOBI KOMMNOHEHTWU (Figure 1)

TopcioHHi aganTepu

A. TopcioHHMI1 apanTep, KOHYCHWI afanTep ANA KOHYCHOT NpUiManbHOT
YaCTUHU, TUTAHOBUIA

@

. TopcioHHWI aganTep, xomyT 30-Mm TPyBKM ANA KOHYCHOT NpuUitManbHoT
YaCTUHU, TUTAHOBUN

C. Topcionnuit agantep, agantep Ana 30-mm Tpy6KM, TUTAHOBMIA, 275 MM

D. TopcioHHwuit agantep, agantep ana 30-mm Tpy6Ku, TUTaHOBMIA, 455 Mmm

E. TopcioHnuin agantep, agantep ans 34-mm Tpy6Ku, TUTaHOBMIA, 275 MM

F. TopcioHnuit agantep, agantep ans 34-mm Tpy6Ku, TUTaHOBMIM, 455 MM

G. 13aTUCKHUI BUHT M5 X 14 mm

H. 4 perynosanbHux rauHt M8 x 14 mm

3a donomoeoro yiei cxemu (Figure 1) su moxeme osHaliomumucs 3
MOpPCIOHHUM aOaNMepom, WO € enemeHmom KOHCMPYKUi. [TocunaHHa Ha yi
Odemani HasedeHi 8 IHCMPYKUIAX | BUKOPUCMOBYIOMbCA NIO YaC CNifKYS8AHHA 3
nNpedcmasHUKOM Cry#bu mexHiYHoI NIoMpuMKuU.

MPU3HAYEHHA

TopcioHHi aganTepu — Ue afanTepy NpoTesiB, WO NPU3HaYeHi KonitoBaTn
TOPCIOHHY NOAATAIMBICTb aHAaTOMIYHOI KiHLiBKW, 3abe3neyyioum KpyTunbHe
06epTaHHA MiX KyNIbTENPUIAMANbHOIO Ti1b30t0 Ta NPOTE30M CTYMHI.

/\ MOKA3AHHA

= AmnyTauii HUXKHIX KiHLiBOK

/\ NPOTUMNOKA3AHHSA

= Hemae Bigomnx

/\ NONEPEAMEHHA

= PiBHOMIpHO 3aTAryiTe, AOTPUMYIOUUCH BKA3aHWUX 3HAYEeHb
HaNaLWTyBaHHA.

= He pgonyckaiiTe BNAMBY Ha LieWi BUpi6 KOposiltHMX maTepianis,
conoHoi Boay abo maTepianis 3 eKcTpemManbHUMK piBHAMM pH.

= byab-AKke noganblue po3bUpaHHA KOMMOHEHTIB 360 BHECEHHA
B HUX MoZmbiKaLlii npu3Bese L0 NPUNUHEHHA Aji rapaHTii.

HedompumaHH#A yux 8Ka3i80K Moxe npuzsecmu 00 00H020 abo 8Cix MAKUX

HacnioKie: wym, nepemilieHHs, NoWKoOxeHHA abo kKamacmpogiyHe

PYUHY8AHHA. Y pasi 6UHUKHEHHA N00abWUX NUMaHbe 3eepmatiimecs 00
cnymbu mexHiuHoi niompumku komnaii College Park




IHGOPMAL,IA LLOAO rFAPAHTIMHOI NEPEBIPKU TA TEXHIYHOIO OBC/TYTOBYBAHHA

Komnania College Park pekomeHye npoBoanTH OrnA4 NaLieHTIB 3rigHO 3 rpadikom rapaHTiliHNX Nepesipok,
AKWI HaBeAEHO HUKYe.

3a ymosu 8enuKoi 8aeu nauieHma ma/4qu pieHs yoapHo2o enausy moxe nompebysamuca binew Yacme nposedeHHs nepesipok.
KomnoHeHmu npome3y cnid nepesipumu nicas nepwux 30 0Hie sukopucmaHHA. Mu pekomeHOYEMO 8i3yasibHO nepesipumu 8ecb npomes
HQa HaABHICMb 03HAK HAOMIPHO20 3HOWEHHA MA 8MOMU Nid 4aC KOXCHOI KOHCYAbmayii.

IPA®IK FTAPAHTIMHOI NEPEBIPKU TOPCIOHHOIO AOANTEPA: 30 AHIB, 3rO10M LLOPOKY.

TEXHIYHI XAPAKTEPUCTUKU

TopcioHHMi4 aganTep,
KOHYCHWI1 aganTtep ans

TopcioHHwit apanTep,
xomyT 30-mm TpybKM Ana

TopcioHHwuit aganTep,
apantep ans 30-mm

TopcioHHwit aganTep,
apantep ans 30-mm

TopcioHHwWit apganTep,
apantep ana 34-mm

TopcioHHwit aganTep,
apantep ana 34-mm

KOHYCHOI KOHYCHOI ] TPY6KM, 3 TPY6KM, TUTAHOBWIA, Tpy6KM, TUTAHOBM, TPY6KM, TUTAHOBWIA,
YaCTMHU, TUTAHOBUM YaCTUHU, TUTaHOBMI 275 mm 455 mm 275 mm 455 mm
Homep perani TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TORT275 34 TOR T455 34
Marepian Tutan TutaH Tutan Tutan TuraH ( Tutan
4acTMHa), antomiHii 4acTMHa), antomiHii YacTuHa), aNloMmiHii 4acTMHa), antomiHiin
(Tpy6Ka) (py6Ka) (Tpy6Ka) (py6Ka)
Aiametp Tpy6Kn H/A 30 mm 30 mm 30 mm 34 mm 34 mm

Bucora BcTaHoOBANEHHA
(MAKC.)

43 mm (1,7 pioiima)

47 mm (1,9 proiima)

275 mm (10,8 pioitma)

455 mm (18 groiimis)

275 mm (10,8 atoitma)

455 mm (18 groiimis)

[loBxuHa BiApizaHHA H/n H/A, 83 mm (3,3 groiima) 83 mm 79 mm (3,1 groiima) 79 mm (3,1 atoiima)
(MIH.) (3,3 groiima)

Maca sysana 393r 432r 567 r 670 569 6851

Makc. maca nauieHta 150 kr (330 ¢yHrTie) 136 kr (300 dyHrTie) 136 kr (300 ¢yHTiB) 136 kr (300 ¢yHTiB) 150 kr (330 dywrTie) 150 «kr (330 ¢yHrTie)
BicHe o6epTaHHs +20° +20° +20° +20° +20° +20°

lapaHTis 2 pokw, obmeeHa 2 poku, obmeskeHa 2 poku, 2 poku, 2 poku, obmeskeHa 2 poku, obmexeHa

KpyTunbhuii momeHt
(peryntoBanbHi rBuHTH)

15 H-m (11 pyTo-dyHTiB)

15 H-m (11 pyTo-¢pyHTis)

15 H-m (11 dpyTo-dyHTiB)

15 H-m (11 dyTo-dyHTiB)

15 H-m (11 pyTo-¢pyHTiB)

15 H-m (11 dpyTo-dyHTiB)

KpyTunbHuit momeHT
(3aTUCKHMA rBUHT)

w/a

6 H-m (4,4 dyTo-dpyHTa)

H/a

H/a

/A

H/a




PETYNIOBAHHA OBEPTAHHA (Figure 2)
= [liana3oH peryntoBaHHA = 2 NOBHNX 06epTu
= 3aBOACbKe HanawTyBaHHA = MiHIMalbHWI CNPOTUB

NOTPIBHU PE3Y/ILTAT

HEAONIK PETYNIIOBAHHA

3MeHLWeHNA KpYTUABHUI

3awsuake A MoBepHyTH 32 XO40M
MOMeHT / 36inbleHHa PR
obepTaHHA FOAMHHUKOBOT CTPINKK
cnpoTusy
3aH_amo 36inbWeHNN KPYTUNBHUI MosepHYTH NPOTH X08Y
NOBiNbHE ~ MOMEHT / 3MeHLEeHHA P
rOAMHHWKOBOI CTPINIKK -

obepTaHHA CNpoTUBY

BKA3IBKU

Ha Hapisi peryntoBanbHoro reuHta M8 x 14 mm Ta 3aTUCKHOTO rBUHTa
M5 x 14 mm nepeabadeHo HeilnoHOBY Npokaaaky. Loctite® He NoTpiGHUN.

CNYXBA TEXHIYHOT NIATPUMKM / ABAPIMHUX
MNOCANYT 24-7-365

Odic komnanii College Park cragapTHo npauyoe 3 noHeainka Ao n'ATHULI 3
08:30 0 17:30 (EST). Y Hepobouwit yac AOCTYNHWI HOMep aBapiitHOT CayK6m
TexHi4HOI NiATPUMKM AN 38'A3Ky 3 npescTasHukom komnaHii College Park.

BIANOBIAANDBHICTb

Bupo6HWMK He Hece BigNOBIAaNbHOCTI 33 36MUTKK, LLLO BUHUKAWM BHACNIAOK
BMKOPUCTaHHA KOMBIHALLI KOMMNOHEHTIB, HE A03BOIEHWUX BUPOBHUKOM.

/\ VBATA

Bupobu Ta KOMNOHEHTH, Wo Bunyckae komnaHia College Park, pospobneni

11 BUNPOBYBaHi BiANOBIAHO A0 3aCTOCOBHMX OQiLLiMHUX CTAHAAPTIB i

BNIACHWX CTAHAAPTIB KOMNaHii y BUNazKax, konv odiuiiHuii cTaHpapT He
3acTocoByeTbCA. CYMICHICTb i BifNOBIAHICTb LM cTaHAapTam 3abe3neyyoTbes

/\ VBATA

Y pasi BUHUKHEHHA NPobem i, 4ac BUKOPUCTAHHA LibOro BUPOBY HeraHo
3BEPHITLCA [0 CBOTO MeAMYHOTO daxiBLA. MPOTE3NCT Ta/un NaLLIEHT MaloTb
NoBIZOMAATU NPO 6yAb-AKWUI CEPIUO3HUIA IHLMAEHT*, WO TpanuBCcA y 38’A3KY

3 npuctpoem, komnanito College Park Industries, Inc. Ta KOMneTeHTHMi1 opraH
BNagW KpaiHu-uneHa, y AKii nepebysae NPOTE3UCT Ta/umn nauieHT.

* «Cepio3HWI IHLIMAEHT» BU3HAYAETLCA AK BYAb-AKMIA IHLMAEHT, WO Npamo abo
onocepeAKoBaHO NpuU3BiB, Mir Npu3BecTy abo MosKe Npu3BecTv Ao Byab-AKoi 3
Takux nogiit: (a) cmepTb NaLieHTa, KopucTyBaya abo iHwoi ocoby, (6) TMmuyacose
ab0o nocTiliHe cepiio3He NoripLleHHs CTaHy 340POB'A NaLieHTa, Kopuctysaya abo
iHWoi ocobwu, (B) cepito3Ha 3arpo3a rpomaAcbKoMy 340pP0B'I0.
BIANOBIAHICTb BAMOIAM

Liei npucTpiii npoiilwos BUNpobyBaHHA BiANOBIAHO A0 CTaHAAPTY

ISO 10328 Ha ABa MiNbIMOHM LWKANIB HaBaHTaXKeHHs. BignosigHa TpusanicTb
BMKOPUCTaHHA MOXe CTaHOBUTK 2—3 POKM 3aN1E€XKHO Bif, aKTUBHOCTI NaLjieHTa.

1ISO 10328 — ETUKETKA

HOMEP OETANI 3::‘:%?‘;:‘E’:"B_|;r&??ro TEKCT HA ETUKETUI
TORTCPR T
TORT27530  |136 IS0 10328-P6-136 kg
TOR 7455 30
TORPAPRT
TORT27534  [150 IS0 10328-P7-150 kg
TORT455 34

1SO 10328-«Pr-amnkr*) /A

TiNbKM 32 YMOBM BUKOPUCTaHHA BUPo6is komnanii College Park 3 i
komnoHentamm College Park. Lieit Bupi6 cnpoexTosaHmii i BunpobysaHuii 3a
YMOBW BUKOPUCTAHHA 3 0AHUM nauieHTom. SABOPOHEHO BukopucToBysaTtn
uei NpucTpiit ANA AeKiNbKoX naLjieHTiB.

*) 3 dony y macy mina!

Bidomocmi npo ocobrusi ymosu Ui 0bmexeHHs 8UKOPUCMAHHA HaBedeHi
8 po30ini «[TpuU3HAYEHHA» 8 NUCLMOBUX IHCMPYKUIAX BUPOOHUKA.

\_




BRI | A B REUER M
) FEiEs

i~ mi iR

LEEEARERE BB — D HAABAR, PRRENIATE—ERE LA BT EMNENN TN EERE] ., 5— &
FimE TIRHEA T —HMR: AER. B3R (8) HRRIBRITREIEME,

ik e
A HHEES
. PR
. AR
. HHEE

g

o

%)

o

0

o

B R R i

O m m 99N w

. W,
. HNEIERE,
. (1) M5 x 14mm K Z424T
H. (4 M8 x 14mm BEE124T

KEEERH (Figure 1)

34mm B

2
8,
8,
8,

. BRI TIREIENE, §)
, 30mm EXREREREAENE, &
, 30mm EfEHEE,
, 30mm B,
HEE,
34mm BiRIEE,

275mm
455mm
275mm
455mm

WEEZ (Fiqure 1) BB F LTI 12 3009 10D 1F,
LT B AHLT T 5V, BT EIRIERRS

2%,

FHA R I

ANEEFNRREES, THENERZRAREENKS
MR, MmSEIL BRI R 2 BRI feds

A\ BRI
. PR

A\ BSHE:
. &A1
-
- BAERENOITE.,
- ENEAREME IR, KSR pH RS,
= BRI BOE IR ERIREN .,

TEFIRIFIEA A EERE U T— M Z TR - IRE.
B5). IIFFIAE A IE, EZEEE, 15 College Park

Technical Service,



BRI ER

College Park FZIUE IR A T BRI I ZHER ARITRENE.

BARER]/ B 72 T7 55 /B AR A BEF B ESNE AN E, WERF/T 30 XAMERAEE . BlIERER# T2, HER

I EETMRIE B BB S,

HNEESRFRLERER: 30X, RAEEF—X.

ARG

WO, A HH%IES, 30mm HHEIER, 30mmE HARER, 30mmE HHEEHER, 34mm

HAHEIEER, 34mm

Fameslpsl, BINEREAMH  BIER, % 275mm  HIER, K, 455mm  EEEHESR, BELIREE,

ENEE, % EEE, % £, 275mm £, 455mm
TS TORPAPRT TORTCPRT TOR T275 30 TOR T455 30 TOR T275 34 TOR T455 34
LzEE) S % B (JEANEE) B (BEGVE) B (JENEE) | B (JEUNEE)

B (&) B (&) B (&) B (&)

B2 RER 30 mm 30 mm 30 mm 34 mm 34 mm
HEWEE (BAME)  43mm (17ES)  47mm (19%E)  275mm (108%<)  455mm (18 #) 275mm (108 %)  455mm (18 )
MEKRE (BME) TEA TEFA 83mm (33FESf) 83mm (33%&<) 79mm (31%EY) 79mm (31E])
BHER 393¢ 432¢ 567¢ 670 g 569 g 685¢g
BEBERE 150kg (330%5)  136kg (300 %) 136 kg (300 %) 136 kg (300 %) 150 kg (330 %) 150 kg (330 #%)
Eilm)nd +/-20° +/-20° +/-20° +/-20° +/-20° +/-20°
BRR 2 FHRFAIR 2 FHRFAIR 2 FHRFAIR 2 FHBRRAR 2 FHRFAIR 2 FHRFAIR
HIE  (EEIRE) 15 N-m (11ft-Ibs) 15 Nem (11ft-Ibs) 15 N-m (11ft-Ibs) 15 Nem (11ft-1bs) 15 Nem (11ft-Ibs) 15 Nem (11ft-Ibs)
HIE (REBE) TER 6N-m (44 fi-lbs)  FIEF &R TER TER




HAET (Figure 2)
- ETEE-22E
= BTRE = &/AVESH

FRRARR

FEESIR  BRRHAE/EMESN  IRESEEER) q
fefeidle  IBINEAE/RREMAS  ERIHE [-\
(]

M8 x 14mm B EIRETH] M5 x 14mm FLRIRET, THFHMIRTTE Loctite®,

BRARhE/ E2BRS (24-7-365 2K1R)

College Park TERERNEA—ZFAR LT 8:30 - T 530 (EEFRIPIT
JERTIE) . TEUCETEZ b, BEIRITERIRARIRS BIE, BAR College
Park HHER X,

=
=E
S FRAHEFENOS A SFMERRIIRIR, FHEEBMARR

S, =
A\ EE
College Park H0P= RN HRIBEMAE S RES (ETEMEHRE
1) TR RO T I A, {025 College Park 7= S A E
{B37540 College Park BT, o AESLINS X Lot eI R
I, AP RARIREA BB RS R T AR, IR R
EEN NN

==
A\ EE
WRIZF REERI R HIEEDR, BURRKABNETEWAL,
WIS FEA REVERI BB, RERIDH/SEERNE College
Park Industries, Inc. REFTERAENEELBRE.

*EERM RIFEENEESH. EE2SMEITESHU MEMIERN
EEEG; () BE. EAFIEMARRLT: O BE, EHEEHEMA
BIEEARE N SR A EERML: © FERBDAREER,

% [

ZIRE EARYE 1ISO 10328 #mfERt1T Y 200 HRAFMBEIFMIL -
RIBBENENIER - XATAEAEST 2 £ 3 FAEARTE -

ISO 10328 - fR&
S FER(E (KG)

TORTCPRT
TORT275 30
TOR T455 30
TORPAPRT
TORT27534
TOR T455 34

f
1SO 10328 - “P” - “m’kg") A\

MEXF

136 1SO 10328-P6-136 kg

150 1SO10328-P7-150 kg

*) RS SR RERS !

KT ERREREZEMIRE - B2 HGEHPER
BRrREVTREARIR ST o

\_




MD] ¢ C€
College park 1033 INSTOR 230516

800.728.7950 | 586.294.7950 | college-park.com COLLEGE PARK INDUSTRIES, INC
27955 College Park Dr., Warren, M1 48088 USA

EMERGO EUROPE
MEDENVOY SWITZERLAND m Westervoortsedijk 60, 6827 AT Armhem, The Netherlands
Gotthardstrasse 28, 6302 Zug, Switzerland

Australian Sponsor

MADE IN THE USA EMERGO AUSTRALIA
Level 20, Tower I, Darling Park, 201 Sussex Street,

©2023 College Park Industries, Inc. All rights reserved. Sydney, NSW 2000 Australia



